CLUB REFERENCE 2021

CLUBPOINTS AND OPEN SEASON RENTAL RATES





TABLE OF CONTENTS

HILTON GRAND VACATIONS	Nevada – Las Vegas
RESORTS	Hilton Grand Vacations
Florida	on the Boulevard17
Hilton Grand Vacations at Tuscany Village4	Hilton Grand Vacations at the Flamingo18
Parc Soleil by Hilton Grand Vacations5	Hilton Grand Vacations on Paradise18
Las Palmeras by Hilton Grand Vacations	Hilton Grand Vacations at Trump International Hotel Las Vegas 19
Hilton Grand Vacations at SeaWorld	Elara by Hilton Grand Vacations19–20
Hilton Grand Vacations at McAlpin - Ocean Plaza	Elara by Hilton Club
	Mountain Resorts
Hawaii – Big Island	Valdoro Mountain Lodge22-23
Kohala Suites by Hilton Grand Vacations8	Sunrise Lodge by Hilton Grand Vacations24
The Bay Club at Waikoloa Beach Resort	California
Kings' Land by Hilton Grand Vacations9	Hilton Grand Vacations at MarBrisa
Ocean Tower	dt ividi bi isa
by Hilton Grand Vacations10-11	South Carolina
Hawaii – Oahu	Hilton Grand Vacations at Anderson Ocean Club
Lagoon Tower by Hilton Grand Vacations12	Ocean 22 by Hilton Grand Vacations
Grand Waikikian by Hilton Grand Vacations	Ocean Oak Resort by Hilton Grand Vacations
Kalia Suites by Hilton Grand Vacations14	Ocean Enclave by Hilton Grand Vacations
Hokulani Waikiki by Hilton Grand Vacations14	Liberty Place Charleston
The Grand Islander by Hilton Grand Vacations	by Hilton Club29
	Illinois – Chicago
Hawaii – Maui	Hilton Grand Vacations Chicago
Maui Bay Villas by Hilton Grand Vacations 16	Downtown/Magnificent Mile 30

Cosmopolitan Resorts	Plantation House		
West 57th Street by Hilton Club31	at South Seas Island Resort47		
The Residences by Hilton Club32	South Seas Club at South Seas Island Resort		
The District by Hilton Club 33	The Cottages		
The Central at 5th by Hilton Club 34	at South Seas Island Resort		
The Quin by Hilton Club35	Seawatch On-the-Beach Resort 49		
5 1 1	Club Regency of Marco Island 49		
Barbados	Eagle's Nest Beach Resort50		
Hilton Grand Vacations at The Crane36–37	Sunset Cove Resort 50		
at The Crane50 37	The Charter Club of Marco Beach®51		
European Resorts	The Surf Club of Marco51		
Hilton Grand Vacations	Casa Ybel Resort52		
at Borgo alle Vigne	Hurricane House Resort52		
Hilton Grand Vacations	Sanibel Cottages Resort53		
at Coylumbridge	Shell Island Beach Club Resort53		
Hilton Grand Vacations at Craigendarroch Lodges	Tortuga Beach Club Resort 54		
Hilton Grand Vacations	Plantation Beach Club at Indian River Plantation54		
at Craigendarroch Suites41	at maian river riantation		
at Craigendarroch Suites41 Hilton Grand Vacations			
	EXTERNAL EXCHANGE RESORTS		
Hilton Grand Vacations	EXTERNAL EXCHANGE RESORTS Mexico		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico Fiesta Americana Villas Acapulco55		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico Fiesta Americana Villas Acapulco55		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico Fiesta Americana Villas Acapulco		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico Fiesta Americana Villas Acapulco		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico Fiesta Americana Villas Acapulco		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico Fiesta Americana Villas Acapulco		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico Fiesta Americana Villas Acapulco		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico Fiesta Americana Villas Acapulco		
Hilton Grand Vacations at Dunkeld	EXTERNAL EXCHANGE RESORTS Mexico Fiesta Americana Villas Acapulco		

4 | HILTON GRAND VACATIONS CLUB RULES

FLORIDA RESORTS:

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for Florida Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations at Tuscany Village

Tuscany Village Vacation Suites (Orlando, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 6-15, 24-32, 51-52			
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
1 Bedroom	480	960	4,800
2 Bedroom	700	1,400	7,000
3 Bedroom	840	1,680	8,400

GOLD: Weeks 1-5, 16-23, 33-50			
UNIT SIZE	M-TH NIGHTLY	F–SU Nightly	7 NIGHT WEEK
Studio	160	320	1,600
1 Bedroom	340	680	3,400
2 Bedroom	500	1,000	5,000
3 Bedroom	580	1,160	5,800

Studio	\$94	\$101	\$679
1 Bedroom	\$118	\$123	\$841
2 Bedroom	\$184	\$199	\$1,333
3 Bedroom	\$250	\$269	\$1,807

Studio	\$88	\$92	\$628
1 Bedroom	\$108	\$114	\$774
2 Bedroom	\$167	\$171	\$1,181
3 Bedroom	\$232	\$246	\$1,666

FLORIDA RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Parc Soleil by Hilton Grand Vacations

RL Vacations Suites (Orlando, FL)

POINT REQUIREMENTS

			OIIVI KE
PLATINUM: Weeks 6-15, 24-32, 51-52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
Studio Plus	350	700	3,500
Studio Penthouse	350	700	3,500
Studio Pent. Prem.	620	1,240	6,200
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
1 BR Penthouse	620	1,240	6,200
1 BR Pent. Prem.	840	1,680	8,400
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400
2 BR Penthouse	840	1,680	8,400
2 BR Pent. Prem.	960	1,920	9,600
3 Bedroom	840	1,680	8,400
3 BR Penthouse	960	1,920	9,600

GOLD: Weeks 1-5, 16-23, 33-50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	160	320	1,600
Studio Plus	250	500	2,500
Studio Penthouse	250	500	2,500
Studio Pent. Prem.	420	840	4,200
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200
1 BR Penthouse	420	840	4,200
1 BR Pent. Prem.	580	1,160	5,800
2 Bedroom	500	1,000	5,000
2 Bedroom Plus	580	1,160	5,800
2 BR Penthouse	580	1,160	5,800
2 BR Pent. Prem.	700	1,400	7,000
3 Bedroom	580	1,160	5,800
3 BR Penthouse	700	1,400	7,000

Studio	\$94	\$101	\$679
Studio Plus	\$94	\$101	\$679
Studio Penthouse	\$118	\$125	\$847
Studio Pent. Prem.	\$118	\$125	\$847
1 Bedroom	\$118	\$123	\$841
1 Bedroom Plus	\$118	\$123	\$841
1 BR Penthouse	\$176	\$188	\$1,268
1 BR Pent. Prem.	\$176	\$188	\$1,268
2 Bedroom	\$184	\$199	\$1,333
2 Bedroom Plus	\$184	\$199	\$1,333
2 BR Penthouse	\$262	\$297	\$1,939
2 BR Pent. Prem.	\$262	\$297	\$1,939
3 Bedroom	\$250	\$269	\$1,807
3 BR Penthouse	\$310	\$336	\$2,248

Studio	\$88	\$92	\$628
Studio Plus	\$88	\$92	\$628
Studio Penthouse	\$105	\$110	\$750
Studio Pent. Prem.	\$105	\$110	\$750
1 Bedroom	\$108	\$114	\$774
1 Bedroom Plus	\$108	\$114	\$774
1 BR Penthouse	\$164	\$172	\$1,172
1 BR Pent. Prem.	\$164	\$172	\$1,172
2 Bedroom	\$167	\$171	\$1,181
2 Bedroom Plus	\$167	\$171	\$1,181
2 BR Penthouse	\$250	\$254	\$1,762
2 BR Pent. Prem.	\$250	\$254	\$1,762
3 Bedroom	\$232	\$246	\$1,666
3 BR Penthouse	\$292	\$309	\$2,095

6 | HILTON GRAND VACATIONS CLUB RULES

FLORIDA RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Las Palmeras by Hilton Grand Vacations

LP Vacation Suites (Orlando, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 6–17, 22–34, 51–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
Studio Plus	220	440	2,200
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400

GOLD: Weeks 1-5, 18-21, 35-50				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio	160	320	1,600	
Studio Plus	160	320	1,600	
1 Bedroom	340	680	3,400	
1 Bedroom Plus	420	840	4,200	
2 Bedroom	500	1,000	5,000	
2 Bedroom Plus	580	1,160	5,800	

Studio	\$94	\$101	\$679
Studio Plus	\$94	\$101	\$679
1 Bedroom	\$118	\$123	\$841
1 Bedroom Plus	\$118	\$123	\$841
2 Bedroom	\$184	\$199	\$1,333
2 Bedroom Plus	\$184	\$199	\$1,333

(0 0)		,	
Studio	\$88	\$92	\$628
Studio Plus	\$88	\$92	\$628
1 Bedroom	\$108	\$114	\$774
1 Bedroom Plus	\$108	\$114	\$774
2 Bedroom	\$167	\$171	\$1,181
2 Bedroom Plus	\$167	\$171	\$1,181

FLORIDA RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Hilton Grand Vacations Orlando at SeaWorld

Orlando Vacation Suites (Orlando, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 6–15, 24–32, 51–52					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
Studio	220	440	2,200		
1 BR	480	960	4,800		
2 BR	700	1,400	7,000		
3 BR	840	1,680	8,400		
3 BR+	960	1,920	9,600		

GOLD: Weeks 1–5, 16–23, 33–43				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio	160	320	1,600	
1 BR	340	680	3,400	
2 BR	500	1,000	5,000	
3 BR	580	1,160	5,800	
3 BR+	700	1,400	7,000	

SILVER: Weeks 44–50					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
Studio	110	220	1,100		
1 BR	240	480	2,400		
2 BR	350	700	3,500		
3 BR	410	820	4,100		
3 BR+	480	960	4,800		

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

Studio	\$94	\$101	\$679
1 BR	\$118	\$123	\$841
2 BR	\$184	\$199	\$1,333
3 BR	\$250	\$269	\$1,807
3 BR+	\$250	\$269	\$1,807

Studio	\$88	\$92	\$628
1 BR	\$108	\$114	\$774
2 BR	\$167	\$171	\$1,181
3 BR	\$232	\$246	\$1,666
3 BR+	\$232	\$246	\$1,666
3 BR+	\$232	\$246	\$1,666

a	lays prior to check-out)				
	Studio	\$79	\$86	\$574	
	1 BR	\$97	\$101	\$691	
	2 BR	\$152	\$169	\$1,115	
	3 BR	\$228	\$238	\$1,626	
	3 BR+	\$228	\$238	\$1,626	

Hilton Grand Vacations at McAlpin - Ocean Plaza

South Beach Vacation Suites (South Beach, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 1-17, 23-33, 51-52				
UNIT SIZE M-TH F-SU 7 NIGHT WEEK				
1 Bedroom	480	960	4,800	
2 Bedroom	700	1,400	7,000	

GOLD: Weeks 18-22, 34-50				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	340	680	3,400	
2 Bedroom	500	1,000	5,000	

1 Bedroom	\$118	\$123	\$841
2 Bedroom	\$184	\$199	\$1,333

1 Bedroom	\$108	\$114	\$774
2 Bedroom	\$167	\$171	\$1,181

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for Big Island Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Kohala Suites by Hilton Grand Vacations

Kohala Coast Vacation Suites (Waikoloa, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52				
UNIT SIZE M-TH F-SU 7 NIGHT NIGHTLY WEEK				
2 Bedroom	700	1,400	7,000	
2 Bedroom Plus	840	1,680	8,400	
2 Bedroom Prem.	960	1,920	9,600	

GOLD: Weeks 19-22, 36-41					
UNIT SIZE M—TH F—SU 7 NIGH NIGHTLY NIGHTLY WEEK					
2 Bedroom	500	1,000	5,000		
2 Bedroom Plus	580	1,160	5,800		
2 Bedroom Prem.	700	1,400	7,000		

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

2 Bedroom	\$235	\$239	\$1,657
2 Bedroom Plus	\$235	\$239	\$1,657
2 Bedroom Prem.	\$235	\$239	\$1,657

2 Bedroom	\$214	\$228	\$1,540
2 Bedroom Plus	\$214	\$228	\$1,540
2 Bedroom Prem.	\$214	\$228	\$1,540

The Bay Club at Waikoloa Beach Resort

The Bay Club Vacation Ownership Program (Waikoloa, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52					
UNIT SIZE M-TH F-SU 7 NIGHT NIGHTLY WEEK					
1 Bedroom	480	960	4,800		
2 Bedroom	700	1,400	7,000		
2 Bedroom Plus	840	1,680	8,400		

GOLD: Weeks 19-22, 36-41					
UNIT SIZE M-TH F-SU 7 NIGHT NIGHTLY NIGHTLY WEEK					
1 Bedroom	340	680	3,400		
2 Bedroom	500	1,000	5,000		
2 Bedroom Plus	580	1,160	5,800		

1 Bedroom	\$173	\$176	\$1,220
2 Bedroom	\$235	\$239	\$1,657
2 Bedroom Plus	\$235	\$239	\$1,657

(0 0)	1		
1 Bedroom	\$159	\$162	\$1,122
2 Bedroom	\$214	\$228	\$1,540
2 Bedroom Plus	\$214	\$228	\$1,540

ClubPoints Requirements and Open Season Rental Rates, Continued

Kings' Land by Hilton Grand Vacations

WBKL Vacation Suites (Waikoloa, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	480 / 720	960 / 1,440	4,800 / 7,200	
1 Bedroom Plus	620 / 930	1,240 / 1,860	6,200 / 9,300	
1 Bedroom Premier	1,260	2,520	12,600	
2 Bedroom	700 / 1,050	1,400 / 2,100	7,000 / 10,500	
2 Bedroom Plus	840 / 1,260	1,680 / 2,520	8,400 / 12,600	
2 Bedroom Premier	1,440	2,880	14,400	
3 Bedroom	1,260	2,520	12,600	
3 Bedroom Premier	1,725 / 2,300	3,450 / 4,600	17,250 / 23,000	

GOLD: Weeks 19-22, 36-41				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	340 / 510	680 / 1,020	3,400 / 5,100	
1 Bedroom Plus	420 / 630	840 / 1,260	4,200 / 6,300	
1 Bedroom Premier	870	1,740	8,700	
2 Bedroom	500 / 750	1,000 / 1,500	5,000 / 7,500	
2 Bedroom Plus	580 / 870	1,160 / 1,740	5,800 / 8,700	
2 Bedroom Premier	1,050	2,100	10,500	
3 Bedroom	870	1,740	8,700	
3 Bedroom Premier	1,440 / 1,920	2,880 / 3,840	14,400 /19,200	

PLATINUM: Weeks 1–18, 23–35, 42–52				
1 Bedroom	\$173	\$176	\$1,220	
1 Bedroom Plus	\$173	\$176	\$1,220	
1 Bedroom Prem.	\$173	\$176	\$1,220	
2 Bedroom	\$235	\$239	\$1,657	
2 Bedroom Plus	\$235	\$239	\$1,657	
2 Bedroom Prem.	\$235	\$239	\$1,657	
3 Bedroom	\$343	\$357	\$2,443	
3 Bedroom Prem.	\$343	\$357	\$2,443	

GOLD: Weeks 19-22, 36-41				
1 Bedroom	\$159	\$162	\$1,122	
1 Bedroom Plus	\$159	\$162	\$1,122	
1 Bedroom Prem.	\$159	\$162	\$1,122	
2 Bedroom	\$214	\$228	\$1,540	
2 Bedroom Plus	\$214	\$228	\$1,540	
2 Bedroom Prem.	\$214	\$228	\$1,540	
3 Bedroom	\$300	\$327	\$2,181	
3 Bedroom Prem.	\$300	\$327	\$2,181	

ClubPoints Requirements and Open Season Rental Rates, Continued

Ocean Tower by Hilton Grand Vacations

Ocean Tower Vacation Suites (Waikoloa, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52			
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio	340	680	3,400
Studio Plus	620	1,240	6,200
Studio Premier	930	1,860	9,300
Studio Penthouse Premier	1,240	2,480	12,400
1 BR Small	480	960	4,800
1 BR Large	720	1,440	7,200
1 BR Plus Small	720	1,440	7,200
1 BR Plus Large	930	1,860	9,300
1 BR Premier Small	930	1,860	9,300
1 BR Premier Large	1,680	3,360	16,800
2 BR	1,050	2,100	10,500
2 BR Plus	1,725	3,450	17,250
2 BR Premier	1,440	2,880	14,400
2 BR Premier Luxury	1,920	3,840	19,200
2 BR Penthouse	1,750	3,500	17,500
2 BR Penthouse Plus	2,100	4,200	21,000
2 BR Penthouse Premier	2,400	4,800	24,000
3 BR Plus	2,300	4,600	23,000
3 BR Penthouse Premier	2,875	5,750	28,750

GOLD: Weeks 19-22, 36-41			
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio	240	480	2,400
Studio Plus	500	1,000	5,000
Studio Premier	630	1,260	6,300
Studio Penthouse Premier	930	1,860	9,300
1 BR Small	340	680	3,400
1 BR Large	510	1,020	5,100
1 BR Plus Small	510	1,020	5,100
1 BR Plus Large	630	1,260	6,300
1 BR Premier Small	630	1,260	6,300
1 BR Premier Large	1,160	2,320	11,600
2 BR	750	1,500	7,500
2 BR Plus	1,440	2,880	14,400
2 BR Premier	1,050	2,100	10,500
2 BR Premier Luxury	1,400	2,800	14,000
2 BR Penthouse	1,250	2,500	12,500
2 BR Penthouse Plus	1,450	2,900	14,500
2 BR Penthouse Premier	1,750	3,500	17,500
3 BR Plus	1,920	3,840	19,200
3 BR Penthouse Premier	2,400	4,800	24,000

ClubPoints Requirements and Open Season Rental Rates, Continued

Ocean Tower by Hilton Grand Vacations, Continued

Ocean Tower Vacation Suites (Waikoloa, HI)

PLATINUM: Weeks 1–18, 23–35, 42–52			
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio	\$154	\$164	\$1,108
Studio Plus	N/A	N/A	N/A
Studio Premier	\$154	\$164	\$1,108
Studio Penthouse Premier	\$173	\$190	\$1,262
1 BR Small	\$173	\$176	\$1,220
1 BR Large	\$173	\$176	\$1,220
1 BR Plus Small	\$173	\$176	\$1,220
1 BR Plus Large	\$173	\$176	\$1,220
1 BR Premier Small	N/A	N/A	N/A
1 BR Premier Large	\$173	\$176	\$1,220
2 BR	\$235	\$239	\$1,657
2 BR Plus	N/A	N/A	N/A
2 BR Premier	N/A	N/A	N/A
2 BR Premier Luxury	\$235	\$239	\$1,657
2 BR Penthouse	\$398	\$442	\$2,918
2 BR Penthouse Plus	\$398	\$442	\$2,918
2 BR Penthouse Premier	\$398	\$442	\$2,918
3 BR Plus	\$343	\$357	\$2,443
3 BR Penthouse Premier	\$566	\$625	\$4,139

GOLD: Weeks 19–22, 36–41			
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio	\$141	\$150	\$1,014
Studio Plus	N/A	N/A	N/A
Studio Premier	\$141	\$150	\$1,014
Studio Penthouse Premier	\$153	\$161	\$1,095
1 BR Small	\$159	\$162	\$1,122
1 BR Large	\$159	\$162	\$1,122
1 BR Plus Small	\$159	\$162	\$1,122
1 BR Plus Large	\$159	\$162	\$1,122
1 BR Premier Small	N/A	N/A	N/A
1 BR Premier Large	\$159	\$162	\$1,122
2 BR	\$214	\$228	\$1,540
2 BR Plus	N/A	N/A	N/A
2 BR Premier	N/A	N/A	N/A
2 BR Premier Luxury	\$214	\$228	\$1,540
2 BR Penthouse	\$370	\$387	\$2,641
2 BR Penthouse Plus	\$370	\$387	\$2,641
2 BR Penthouse Premier	\$370	\$387	\$2,641
3 BR Plus	\$300	\$327	\$2,181
3 BR Penthouse Premier	\$485	\$514	\$3,482

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for the following Oahu, Hawaii Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Lagoon Tower by Hilton Grand Vacations

Hawaiian Village Vacation Suites (Oahu, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52			
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
Studio	220	440	2,200
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400
2 Bedroom Prem.	960	1,920	9,600
3 Bedroom Plus	960	1,920	9,600

GOLD: Weeks 19-22, 36-41			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	160	320	1,600
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200
2 Bedroom	500	1,000	5,000
2 Bedroom Plus	580	1,160	5,800
2 Bedroom Prem.	700	1,400	7,000
3 Bedroom Plus	700	1,400	7,000

Studio	\$154	\$162	\$1,102
1 Bedroom	\$210	\$223	\$1,509
1 Bedroom Plus	\$210	\$223	\$1,509
2 Bedroom	\$314	\$327	\$2,237
2 Bedroom Plus	\$314	\$327	\$2,237
2 Bedroom Prem.	\$314	\$327	\$2,237
3 Bedroom Plus	\$684	\$691	\$4,809

_	(beginning 30 days prior to effect out)				
	Studio	\$135	\$147	\$981	
	1 Bedroom	\$187	\$209	\$1,375	
	1 Bedroom Plus	\$187	\$209	\$1,375	
	2 Bedroom	\$276	\$295	\$1,989	
	2 Bedroom Plus	\$276	\$295	\$1,989	
	2 Bedroom Prem.	\$276	\$295	\$1,989	
	3 Bedroom Plus	\$580	\$666	\$4,318	

ClubPoints Requirements and Open Season Rental Rates, Continued

Grand Waikikian by Hilton Grand Vacations

GW Vacation Suites (Oahu, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom	720	1,440	7,200
1 Bedroom Plus	930	1,860	9,300
1 Bedroom Prem.	1,260	2,520	12,600
2 Bedroom	1,050	2,100	10,500
2 Bedroom Plus	1,260	2,520	12,600
2 Bedroom Prem.	1,440	2,880	14,400
2 Bedroom Pent.	2,400	4,800	24,000
3 Bedroom Pent.	2,875	5,750	28,750

GOLD: Weeks 19-22, 36-41								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
1 Bedroom	510	1,020	5,100					
1 Bedroom Plus	630	1,260	6,300					
1 Bedroom Prem.	870	1,740	8,700					
2 Bedroom	750	1,500	7,500					
2 Bedroom Plus	870	1,740	8,700					
2 Bedroom Prem.	1,050	2,100	10,500					
2 Bedroom Pent.	1,750	3,500	17,500					
3 Bedroom Pent.	2,400	4,800	24,000					

\$210	\$223	\$1,509
\$210	\$223	\$1,509
\$210	\$223	\$1,509
\$314	\$327	\$2,237
\$314	\$327	\$2,237
\$314	\$327	\$2,237
\$506	\$520	\$3,584
\$710	\$745	\$5,075
	\$210 \$210 \$314 \$314 \$314 \$506	\$210 \$223 \$210 \$223 \$210 \$223 \$314 \$327 \$314 \$327 \$314 \$327 \$506 \$520

(0 0)	1		
1 Bedroom	\$187	\$209	\$1,375
1 Bedroom Plus	\$187	\$209	\$1,375
1 Bedroom Prem.	\$187	\$209	\$1,375
2 Bedroom	\$276	\$295	\$1,989
2 Bedroom Plus	\$276	\$295	\$1,989
2 Bedroom Prem.	\$276	\$295	\$1,989
2 Bedroom Pent.	\$457	\$478	\$3,262
3 Bedroom Pent.	\$654	\$681	\$4,659

ClubPoints Requirements and Open Season Rental Rates, Continued

Kalia Suites by Hilton Grand Vacations

KT Vacation Suites (Oahu, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52						
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK			
Studio	220	440	2,200			
1 Bedroom	480	960	4,800			
1 Bedroom Plus	620	1,240	6,200			

GOLD: Weeks 19-22, 36-41							
UNIT SIZE M-TH F-SU 7 NI NIGHTLY NIGHTLY WE							
Studio	160	320	1,600				
1 Bedroom	340	680	3,400				
1 Bedroom Plus	420	840	4,200				

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

Studio	\$154	\$162	\$1,102
1 Bedroom	\$210	\$223	\$1,509
1 Bedroom Plus	\$210	\$223	\$1,509

Studio	\$135	\$147	\$981
1 Bedroom	\$187	\$209	\$1,375
1 Bedroom Plus	\$187	\$209	\$1,375

Reservation Windows for the following Oahu, Hawaii Resorts

365 DAYS	186 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–186 days	begins 186 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hokulani Waikiki by Hilton Grand Vacations

BW Vacation Suites (Oahu, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52						
UNIT SIZE M-TH F-SU 7 NIGHT NIGHTLY WEEK						
1 Bedroom Plus	620	1,240	6,200			
1 Bedroom Prem.	840	1,680	8,400			

	GOLD: Weeks 19-22, 36-41						
UNIT SIZE M-TH F-SU 7 M NIGHTLY NIGHTLY W							
	1 Bedroom Plus	420	840	4,200			
	1 Bedroom Prem.	580	1,160	5,800			

1 Bedroom Plus	\$210	\$223	\$1,509	1 Bedroom Plus	\$187	\$209	\$1,375
1 Bedroom Prem.	\$210	\$223	\$1,509	1 Bedroom Prem.	\$187	\$209	\$1,375

ClubPoints Requirements and Open Season Rental Rates, Continued

The Grand Islander by Hilton Grand Vacations

GI Vacation Suites (Oahu, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52						
UNIT SIZE	UNIT SIZE M—TH F—SU NIGHTLY NIGHTLY					
1 Bedroom	720	1,440	7,200			
1 Bedroom Plus	930	1,860	9,300			
1 Bedroom Prem.	1,260	2,520	12,600			
1 BR Prem. Lux.	1,680	3,360	16,800			
2 Bedroom	840	1,680	8,400			
2 Bedroom Plus	1,260	2,520	12,600			
2 Bedroom Prem.	1,440	2,880	14,400			
2 Bedroom Pent.	1,750	3,500	17,500			
2 BR Prem. Lux.	1,920	3,840	19,200			
2 Bedroom Pent. Plus	2,100	4,200	21,000			
2 BR Pent. Prem.	2,400	4,800	24,000			
3 BR Pent. Prem.	2,875	5,750	28,750			

GOLD: Weeks 19-22, 36-41				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	510	1,020	5,100	
1 Bedroom Plus	630	1,260	6,300	
1 Bedroom Prem.	870	1,740	8,700	
1 BR Prem. Lux.	1,160	2,320	11,600	
2 Bedroom	580	1,160	5,800	
2 Bedroom Plus	870	1,740	8,700	
2 Bedroom Prem.	1,050	2,100	10,500	
2 Bedroom Pent.	1,250	2,500	12,500	
2 BR Prem. Lux.	1,400	2,800	14,000	
2 Bedroom Pent. Plus	1,450	2,900	14,500	
2 BR Pent. Prem.	1,750	3,500	17,500	
3 BR Pent. Prem.	2,400	4,800	24,000	

1 Bedroom	\$210	\$223	\$1,509
1 Bedroom Plus	\$210	\$223	\$1,509
1 Bedroom Prem.	\$210	\$223	\$1,509
1 BR Prem. Lux.	\$210	\$223	\$1,509
2 Bedroom	\$314	\$327	\$2,237
2 Bedroom Plus	\$314	\$327	\$2,237
2 Bedroom Prem.	\$314	\$327	\$2,237
2 Bedroom Pent.	\$506	\$520	\$3,584
2 BR Prem. Lux.	\$314	\$327	\$2,237
2 Bedroom Pent. Plus	\$506	\$520	\$3,584
2 BR Pent. Prem.	\$506	\$520	\$3,584
3 BR Pent. Prem.	\$710	\$745	\$5,075
O DITT OILL T TOIL.	Ψ110	Ψ140	φο,στο

(3081111118 30 day)	- F	,	
1 Bedroom	\$187	\$209	\$1,375
1 Bedroom Plus	\$187	\$209	\$1,375
1 Bedroom Prem.	\$187	\$209	\$1,375
1 BR Prem. Lux.	\$187	\$209	\$1,375
2 Bedroom	\$276	\$295	\$1,989
2 Bedroom Plus	\$276	\$295	\$1,989
2 Bedroom Prem.	\$276	\$295	\$1,989
2 Bedroom Pent.	\$457	\$478	\$3,262
2 BR Prem. Lux.	\$276	\$295	\$1,989
2 Bedroom Pent. Plus	\$457	\$478	\$3,262
2 BR Pent. Prem.	\$457	\$478	\$3,262
3 BR Pent. Prem.	\$654	\$681	\$4,659

MAUI, HAWAII RESORT:

ClubPoints Requirements and Open Season Rental Rates

Maui Bay Villas by Hilton Grand Vacations

(Lahaina, HI)

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 23–35, 42–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom	930	1,860	9,300
1 Bedroom Double	930	1,860	9,300
1 Bedroom Plus	1,260	2,520	12,600
1 BR Double Plus	1,260	2,520	12,600
1 Bedroom Prem.	1,140	2,880	14,400
1 Bedroom Pent.	1,680	3,360	16,800
1 BR Pent. Prem.	2,100	4,200	21,000
2 Bedroom	1,260	2,520	12,600
2 Bedroom Plus	1,440	2,880	14,400
2 Bedroom Prem.	1,680	3,360	16,800
2 Bedroom Pent.	2,100	4,200	21,000
2 BR Pent. Prem.	2,400	4,800	24,000
3 Bedroom Plus	2,400	4,800	24,000
3 BR Pent. Prem.	2,875	5,750	28,750

GOLD: Weeks 19-22, 36-41			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 Bedroom	630	1,260	6,300
1 Bedroom Double	630	1,260	6,300
1 Bedroom Plus	870	1,740	8,700
1 BR Double Plus	870	1,740	8,700
1 Bedroom Prem.	1,050	2,100	10,500
1 Bedroom Pent.	1,160	2,320	11,600
1 BR Pent. Prem.	1,680	3,360	16,800
2 Bedroom	870	1,740	8,700
2 Bedroom Plus	1,050	2,100	10,500
2 Bedroom Prem.	1,160	2,320	11,600
2 Bedroom Pent.	1,680	3,360	16,800
2 BR Pent. Prem.	1,920	3,840	19,200
3 Bedroom Plus	1,920	3,840	19,200
3 BR Pent. Prem.	2,400	4,800	24,000

1 Bedroom	\$231	\$245	\$1,659
1 Bedroom Double	\$231	\$245	\$1,659
1 Bedroom Plus	\$231	\$245	\$1,659
1 BR Double Plus	\$231	\$245	\$1,659
1 Bedroom Prem	\$231	\$245	\$1,659
1 Bedroom Pent.	\$455	\$475	\$3,245
1 BR Pent. Prem.	\$455	\$475	\$3,245
2 Bedroom	\$345	\$360	\$2,460
2 Bedroom Plus	\$345	\$360	\$2,460
2 Bedroom Prem.	\$345	\$360	\$2,460
2 BR Pent. Prem.	\$557	\$572	\$3,944
3 Bedroom Plus	\$752	\$760	\$5,288
3 BR Pent. Prem.	781	\$820	\$5,584

1 Bedroom	\$206	\$230	\$1,514
1 Bedroom Double	\$206	\$230	\$1,514
1 Bedroom Plus	\$206	\$230	\$1,514
1 BR Double Plus	\$206	\$230	\$1,514
1 Bedroom Prem.	\$206	\$230	\$1,514
1 Bedroom Pent.	\$405	\$425	\$2,895
1 BR Pent. Prem.	\$405	\$425	\$2,895
2 Bedroom	\$304	\$325	\$2,191
2 Bedroom Plus	\$304	\$325	\$2,191
2 Bedroom Prem.	\$304	\$325	\$2,191
2 BR Pent. Prem.	\$503	\$526	\$3,590
3 Bedroom Plus	\$638	\$733	\$4,751
3 BR Pent. Prem.	\$719	\$749	\$5,123

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for Las Vegas Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations on the Boulevard

Las Vegas Boulevard Vacation Suites (Las Vegas, NV)

POINT REQUIREMENTS

PLATINUM: Weeks 9-20, 37-43, 51-52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
Studio Plus	220	440	2,200
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400
3 Bedroom Plus	960	1,920	9,600

GOLD: Weeks 1-8, 21-36, 44-50			
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
Studio	160	320	1,600
Studio Plus	160	320	1600
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200
2 Bedroom	500	1,000	5,000
2 Bedroom Plus	580	1,160	5,800
3 Bedroom Plus	700	1,400	7,000

Studio	\$105	\$110	\$750
Studio Plus	\$105	\$110	\$750
1 Bedroom	\$126	\$137	\$915
1 Bedroom Plus	\$126	\$137	\$915
2 Bedroom	\$206	\$234	\$1,526
2 Bedroom Plus	\$206	\$234	\$1,526
3 Bedroom Plus	\$340	\$388	\$2,524

(0 0)		/	
Studio	\$98	\$100	\$692
Studio Plus	\$98	\$100	\$692
1 Bedroom	\$120	\$123	\$849
1 Bedroom Plus	\$120	\$123	\$849
2 Bedroom	\$178	\$205	\$1,327
2 Bedroom Plus	\$178	\$205	\$1,327
3 Bedroom Plus	\$297	\$299	\$2,085

ClubPoints Requirements and Open Season Rental Rates, Continued

Hilton Grand Vacations at the Flamingo

FHRC Suites (Las Vegas, NV)

POINT REQUIREMENTS

Week	PLATINUM: Weeks 9–20, 37–43, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK		
Studio	220	440	2,200		
1 BR	480	960	4,800		
2 BR	700	1,400	7,000		

GOLD: Weeks 5–8, 21–36, 44–48				
UNIT SIZE	F-SU Nightly	7 NIGHT WEEK		
Studio	160	320	1,600	
1 BR	340	680	3,400	
2 BR	500	1,000	5,000	

v	SILV Veeks 1-)
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	110	220	1,100
1 BR	240	480	2,400
2 BR	350	700	3,500

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

Studio	\$105	\$110	\$750
1 BR	\$126	\$137	\$915
2 BR	\$206	\$234	\$1,526

Studio	\$98	\$100	\$692
1 BR	\$120	\$123	\$849
2 BR	\$178	\$205	\$1,327
			. ,-

Studio	\$71	\$94	\$566
1 BR	\$113	\$117	\$803
2 BR	\$152	\$175	\$1,133

Hilton Grand Vacations on Paradise

Las Vegas Vacation Suites (Las Vegas, NV)

POINT REQUIREMENTS

PLATINUM: Weeks 9–20, 37–43, 51–52					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
Studio	220	440	2,200		
1 BR	480	960	4,800		
2 BR	700	1,400	7,000		

GOLD: Weeks 5–8, 21–36, 44–48				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	160	320	1,600	
1 BR	340	680	3,400	
2 BR	500	1,000	5,000	

SILVER: Weeks 1–4, 49–50					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
Studio	110	220	1,100		
1 BR	240	480	2,400		
2 BR	350	700	3,500		

Studio	\$105	\$110	\$750	Stı
1 BR	\$126	\$137	\$915	1
2 BR	\$206	\$234	\$1,526	2

Studio	\$98	\$100	\$692
1 BR	\$120	\$123	\$849
2 BR	\$178	\$205	\$1,327

~	adjo prior to chock out)					
	Studio	\$71	\$94	\$566		
	1 BR	\$113	\$117	\$803		
	2 BR	\$152	\$175	\$1,133		

ClubPoints Requirements and Open Season Rental Rates, Continued

Hilton Grand Vacations Club at Trump International Hotel™ Las Vegas

HTLV Vacation Suites (Las Vegas, NV)

POINT REQUIREMENTS

PLATINUM: Weeks 7–22, 35–45, 51–52			
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio Plus	525	1,050	5,250
1 Bedroom	720	1,440	7,200
1 Bedroom Plus	930	1,860	9,300
2 Bedroom	1,050	2,100	10,500
2 Bedroom Plus	1,260	2,520	12,600

GOLD: Weeks 1-6, 23-34, 46-50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio Plus	375	750	3,750
1 Bedroom	510	1,020	5,100
1 Bedroom Plus	630	1,260	6,300
2 Bedroom	750	1,500	7,500
2 Bedroom Plus	870	1,740	8,700

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

Studio Plus	\$105	\$110	\$750
1 Bedroom	\$126	\$137	\$915
1 Bedroom Plus	\$126	\$137	\$915
2 Bedroom	\$206	\$234	\$1,526
2 Bedroom Plus	\$206	\$234	\$1,526

(0 0)		/	
Studio Plus	\$98	\$100	\$692
1 Bedroom	\$120	\$123	\$849
1 Bedroom Plus	\$120	\$123	\$849
2 Bedroom	\$178	\$205	\$1,327
2 Bedroom Plus	\$178	\$205	\$1,327

Elara by Hilton Grand Vacations

LV Tower 52 Vacation Suites (Las Vegas, NV)

POINT REQUIREMENTS

PLATINUM: Weeks 7–22, 35–45, 51–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
Studio Plus	350	700	3,500
1 Bedroom	480	960	4,800
1 Bedroom Plus	550	1,100	5,500
1 Bedroom Grand	700	1,400	7,000
1 BR Grand Plus	780	1,560	7,800
2 Bedroom	840	1,680	8,400
2 Bedroom Grand	920	1,840	9,200
2 Bedroom Plus	960	1,920	9,600

GOLD: Weeks 1-6, 23-34, 46-50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	160	320	1,600
Studio Plus	250	500	2,500
1 Bedroom	340	680	3,400
1 Bedroom Plus	400	800	4,000
1 Bedroom Grand	500	1,000	5,000
1 BR Grand Plus	550	1,100	5,500
2 Bedroom	580	1,160	5,800
2 Bedroom Grand	660	1,320	6,600
2 Bedroom Plus	700	1,400	7,000

ClubPoints Requirements and Open Season Rental Rates, Continued

Elara by Hilton Grand Vacations, Continued

LV Tower 52 Vacation Suites (Las Vegas, NV)

POINT REQUIREMENTS

PLATINUM: Weeks 7–22, 35–45, 51–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
2 BR Grand Plus	1,140	2,280	11,400
3 BR including Studio	1,060	2,120	10,600
3 Bedroom Plus including Studio	1,310	2,620	13,100
3 Bedroom including 1 BR	1,320	2,640	13,200
3 Bedroom Plus including 1 BR	1,510	3,020	15,100
4 Bedroom	1,540	3,080	15,400
4 Bedroom Plus	1,860	3,720	18,600

GOLD: Weeks 1-6, 23-34, 46-50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
2 BR Grand Plus	800	1,600	8,000
3 BR including Studio	740	1,480	7,400
3 Bedroom Plus including Studio	950	1,900	9,500
3 Bedroom including 1 BR	920	1,840	9,200
3 Bedroom Plus including 1 BR	1,100	2,200	11,000
4 Bedroom	1,080	2,160	10,800
4 Bedroom Plus	1,350	2,700	13,500

Studio	\$105	\$110	\$750
Studio Plus	\$105	\$110	\$750
1 Bedroom	\$126	\$137	\$915
1 Bedroom Plus	\$126	\$137	\$915
1 Bedroom Grand	\$126	\$137	\$915
1 BR Grand Plus	\$126	\$137	\$915
2 Bedroom	\$206	\$234	\$1,526
2 Bedroom Grand	\$206	\$234	\$1,526
2 Bedroom Plus	\$206	\$234	\$1,526
2 BR Grand Plus	\$206	\$234	\$1,526
3 BR including Studio	\$340	\$388	\$2,524
3 Bedroom including 1 BR	\$340	\$388	\$2,524
3 Bedroom Plus including Studio	\$340	\$388	\$2,524
3 Bedroom Plus including 1 BR	\$340	\$388	\$2,524
4 Bedroom	\$425	\$530	\$3,290
4 Bedroom Plus	\$425	\$530	\$3,290

Studio	\$98	\$100	\$692
Studio Plus	\$98	\$100	\$692
1 Bedroom	\$120	\$123	\$849
1 Bedroom Plus	\$120	\$123	\$849
1 Bedroom Grand	\$120	\$123	\$849
1 BR Grand Plus	\$120	\$123	\$849
2 Bedroom	\$178	\$205	\$1,327
2 Bedroom Grand	\$178	\$205	\$1,327
2 Bedroom Plus	\$178	\$205	\$1,327
2 BR Grand Plus	\$178	\$205	\$1,327
3 BR including Studio	\$297	\$299	\$2,085
3 Bedroom including 1 BR	\$297	\$299	\$2,085
3 Bedroom Plus including Studio	\$297	\$299	\$2,085
3 Bedroom Plus including 1 BR	\$297	\$299	\$2,085
4 Bedroom	\$397	\$410	\$2,818
4 Bedroom Plus	\$397	\$410	\$2,818

ClubPoints Requirements and Open Season Rental Rates, Continued

Elara by Hilton Club

Elara HC Vacation Suites (Las Vegas, NV)

POINT REQUIREMENTS

PLATINUM: Weeks 7–22, 35–45, 51–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Quad Studio Plus	525	1,050	5,250
Quad Studio Prem.	720	1,440	7,200
1 Bedroom Plus	930	1,860	9,300
1 Bedroom Prem.	1,260	2,520	12,600
2 Bedroom Plus	1,260	2,520	12,600
2 Bedroom Prem.	1,440	2,880	14,400

GOLD: Weeks 1-6, 23-34, 46-50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Quad Studio Plus	375	750	3,750
Quad Studio Prem.	510	1,020	5,100
1 Bedroom Plus	630	1,260	6,300
1 Bedroom Prem.	870	1,740	8,700
2 Bedroom Plus	870	1,740	8,700
2 Bedroom Prem.	1,050	2,100	10,500

PLATINUM: Weeks 7-22, 35-45, 51-52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Quad Studio Plus	\$105	\$110	\$750
Quad Studio Prem.	\$105	\$110	\$750
1 Bedroom Plus	\$126	\$137	\$915
1 Bedroom Prem.	\$126	\$137	\$915
2 Bedroom Plus	\$206	\$234	\$1,526
2 Bedroom Prem.	\$206	\$234	\$1,526

GOLD: Weeks 1-6, 23-34, 46-50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Quad Studio Plus	\$98	\$100	\$692
Quad Studio Prem.	\$98	\$100	\$692
1 Bedroom Plus	\$120	\$123	\$849
1 Bedroom Prem.	\$120	\$123	\$849
2 Bedroom Plus	\$178	\$205	\$1,327
2 Bedroom Prem.	\$178	\$205	\$1,327

MOUNTAIN RESORTS:

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for Mountain Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Valdoro Mountain Lodge

Valdoro Mountain Lodge (Breckenridge, CO)

POINT REQUIREMENTS

PLATINUM: Weeks 1–15, 26–36, 47–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio Plus	350	700	3,500	
1 Bedroom	480	960	4,800	
1 Bedroom Plus	620	1,240	6,200	
2 Bedroom	700	1,400	7,000	
2 Bedroom Plus	840	1,680	8,400	
3 Bedroom	840	1,680	8,400	

GOLD: Weeks 20–25			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio Plus	250	500	2,500
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200
2 Bedroom	500	1,000	5,000
2 Bedroom Plus	580	1,160	5,800
3 Bedroom	580	1,160	5,800

SILVER: Weeks 37-46			
Studio Plus	170	340	1,700
1 Bedroom	240	480	2,400
1 Bedroom Plus	300	600	3,000
2 Bedroom	350	700	3,500
2 Bedroom Plus	410	820	4,100
3 Bedroom	410	820	4,100

BRONZE: Weeks 16-19			
Studio Plus	120	240	1,200
1 Bedroom	170	340	1,700
1 Bedroom Plus	220	440	2,200
2 Bedroom	250	500	2,500
2 Bedroom Plus	300	600	3,000
3 Bedroom	300	600	3,000

MOUNTAIN RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Valdoro Mountain Lodge, Continued

Valdoro Mountain Lodge (Breckenridge, CO)

PLATINUM: Weeks 1–15, 26–36, 47–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	
Studio Plus	\$177	\$200	\$1,308
1 Bedroom	\$239	\$266	\$1,754
1 Bedroom Plus	\$239	\$266	\$1,754
2 Bedroom	\$313	\$362	\$2,338
2 Bedroom Plus	\$313	\$362	\$2,338
3 Bedroom	\$421	\$488	\$3,148

GOLD: Weeks 20-25			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio Plus	\$97	\$114	\$730
1 Bedroom	\$126	\$135	\$909
1 Bedroom Plus	\$126	\$135	\$909
2 Bedroom	\$166	\$211	\$1,297
2 Bedroom Plus	\$166	\$211	\$1,297
3 Bedroom	\$231	\$269	\$1,731

SILVER: Weeks 37-46			
Studio Plus	\$84	\$92	\$612
1 Bedroom	\$110	\$120	\$800
1 Bedroom Plus	\$110	\$120	\$800
2 Bedroom	\$138	\$186	\$1,110
2 Bedroom Plus	\$138	\$186	\$1,110
3 Bedroom	\$217	\$253	\$1,627

BRONZE: Weeks 16–19			
Studio Plus	\$84	\$92	\$612
1 Bedroom	\$110	\$120	\$800
1 Bedroom Plus	\$110	\$120	\$800
2 Bedroom	\$138	\$186	\$1,110
2 Bedroom Plus	\$138	\$186	\$1,110
3 Bedroom	\$217	\$253	\$1,627

MOUNTAIN RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Sunrise Lodge by Hilton Grand Vacations

Sunrise Lodge (Park City, UT)

POINT REQUIREMENTS

PLATINUM: Weeks 1–15, 47–52				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio +	350	700	3,500	
Studio Prem.	380	760	3,800	
1 BR +	620	1,240	6,200	
1 BR Prem.	720	1,440	7,200	
2 BR +	840	1,680	8,400	
2 BR Prem.	1,050	2,100	10,500	
3 BR +	960	1,920	9,600	
3 BR Prem.	1,260	2,520	12,600	
4 BR +	1,150	2,300	11,500	
4 BR Prem.	1,530	3,060	15,300	

FOINT REQUIREMENTS				
GOLD: Weeks 20–36				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio +	250	500	2,500	
Studio Prem.	270	540	2,700	
1 BR +	420	840	4,200	
1 BR Prem.	510	1,020	5,100	
2 BR +	580	1,160	5,800	
2 BR Prem.	750	1,500	7,500	
3 BR +	700	1,400	7,000	
3 BR Prem.	870	1,740	8,700	
4 BR +	960	1,920	9,600	
4 BR Prem.	1,230	2,460	12,300	

SILVER: Weeks 16–19, 37–46					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
Studio +	170	340	1,700		
Studio Prem.	190	380	1,900		
1 BR +	300	600	3,000		
1 BR Prem.	360	720	3,600		
2 BR +	410	820	4,100		
2 BR Prem.	525	1,050	5,250		
3 BR +	480	960	4,800		
3 BR Prem.	615	1,230	6,150		
4 BR +	700	1,400	7,000		
4 BR Prem.	870	1,740	8,700		

Studio +	\$177	\$200	\$1,308
Studio Prem.	\$177	\$200	\$1,308
1 BR +	\$239	\$266	\$1,754
1 BR Prem.	\$239	\$266	\$1,754
2 BR +	\$313	\$362	\$2,338
2 BR Prem.	\$313	\$362	\$2,338
3 BR +	\$421	\$488	\$3,148
3 BR Prem.	\$421	\$488	\$3,148
4 BR +	\$569	\$612	\$4,112
4 BR Prem.	\$569	\$612	\$4,112

Studio +	\$97	\$114	\$730
Studio Prem.	\$97	\$114	\$730
1 BR +	\$126	\$135	\$909
1 BR Prem.	\$126	\$135	\$909
2 BR +	\$166	\$211	\$1,297
2 BR Prem.	\$166	\$211	\$1,297
3 BR +	\$231	\$269	\$1,731
3 BR Prem.	\$231	\$269	\$1,731
4 BR +	\$289	\$480	\$2,596
4 BR Prem.	\$289	\$480	\$2,596

Studio +	\$84	\$92	\$612
Studio Prem.	\$84	\$92	\$612
1 BR +	\$110	\$120	\$800
1 BR Prem.	\$110	\$120	\$800
2 BR +	\$138	\$186	\$1,110
2 BR Prem.	\$138	\$186	\$1,110
3 BR +	\$217	\$253	\$1,627
3 BR Prem.	\$217	\$253	\$1,627
4 BR +	\$277	\$348	\$2,152
4 BR Prem.	\$277	\$348	\$2,152

CALIFORNIA RESORTS:

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for California Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations at MarBrisa

Grand Pacific MarBrisa Resort (Carlsbad, CA)

POINT REQUIREMENTS

PLATINUM: Weeks 22–42, 51–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	350	700	3,500
Studio Plus	350	700	3,500
1 Bedroom	480	960	4,800
1 Bedroom Plus	620	1,240	6,200
1 Bedroom Premier	840	1,680	8,400
2 Bedroom	700	1,400	7,000
2 Bedroom Plus	840	1,680	8,400
2 Bedroom Premier	960	1,920	9,600
3 Bedroom	840	1,680	8,400
3 Bedroom Plus	960	1,920	9,600
3 Bedroom Premier	1,440	2,880	14,400

GOLD: Weeks 1-21, 43-50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	250	500	2,500
Studio Plus	250	500	2,500
1 Bedroom	340	680	3,400
1 Bedroom Plus	420	840	4,200
1 Bedroom Premier	580	1,160	5,800
2 Bedroom	500	1,000	5,000
2 Bedroom Plus	580	1,160	5,800
2 Bedroom Premier	700	1,400	7,000
3 Bedroom	580	1,160	5,800
3 Bedroom Plus	700	1,400	7,000
3 Bedroom Premier	1.050	2,100	10,500

\$122	\$134	\$890
\$122	\$134	\$890
\$158	\$174	\$1,154
\$158	\$174	\$1,154
\$158	\$174	\$1,154
\$257	\$268	\$1,832
\$257	\$268	\$1,832
\$257	\$268	\$1,832
\$356	\$371	\$2,537
\$356	\$371	\$2,537
\$356	\$371	\$2,537
	\$122 \$158 \$158 \$158 \$158 \$257 \$257 \$257 \$356 \$356	\$122 \$134 \$158 \$174 \$158 \$174 \$158 \$174 \$158 \$174 \$257 \$268 \$257 \$268 \$257 \$268 \$257 \$268 \$356 \$371 \$356 \$371

Studio	\$94	\$108	\$700
Studio Plus	\$94	\$108	\$700
1 Bedroom	\$137	\$140	\$968
1 Bedroom Plus	\$137	\$140	\$968
1 Bedroom Premier	\$137	\$140	\$968
2 Bedroom	\$197	\$234	\$1,490
2 Bedroom Plus	\$197	\$234	\$1,490
2 Bedroom Premier	\$197	\$234	\$1,490
3 Bedroom	\$255	\$334	\$2,022
3 Bedroom Plus	\$255	\$334	\$2,022
3 Bedroom Premier	\$255	\$334	\$2,022

SOUTH CAROLINA RESORTS:

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for South Carolina Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations at Anderson Ocean Club

AOC Vacation Suites (Myrtle Beach, SC)

POINT REQUIREMENTS

PLATINUM: Weeks 21–35				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio	220	440	2,200	
1 BR	480	960	4,800	
1 BR Plus	620	1,240	6,200	
2 BR	700	1,400	7,000	
2 BR Plus	840	1,680	8,400	
3 BR Plus	960	1,920	9,600	

GOLD: Weeks 8–20, 36–47, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	160	320	1,600	
1 BR	340	680	3,400	
1 BR Plus	420	840	4,200	
2 BR	500	1,000	5,000	
2 BR Plus	580	1,160	5,800	
3 BR Plus	700	1,400	7,000	

SILVER: Weeks 1–7, 48–50				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio	110	220	1,100	
1 BR	240	480	2,400	
1 BR Plus	300	600	3,000	
2 BR	350	700	3,500	
2 BR Plus	410	820	4,100	
3 BR Plus	480	960	4,800	

Studio	\$123	\$150	\$942
1 BR	\$145	\$168	\$1,084
1 BR Plus	\$145	\$168	\$1,084
2 BR	\$256	\$282	\$1,870
2 BR Plus	\$256	\$282	\$1,870
3 BR Plus	\$382	\$383	\$2,677

Studio	\$91	\$112	\$700
1 BR	\$132	\$141	\$951
1 BR Plus	\$132	\$141	\$951
2 BR	\$221	\$248	\$1,628
2 BR Plus	\$221	\$248	\$1,628
3 BR Plus	\$290	\$316	\$2,108

u	idy's prior to check out)				
	Studio	\$78	\$99	\$609	
	1 BR	\$111	\$121	\$807	
	1 BR Plus	\$111	\$121	\$807	
	2 BR	\$173	\$195	\$1,277	
	2 BR Plus	\$173	\$195	\$1,277	
	3 BR Plus	\$278	\$297	\$2,003	

SOUTH CAROLINA RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Ocean 22 by Hilton Grand Vacations

Ocean 22 Vacation Suites (Myrtle Beach, SC)

POINT REQUIREMENTS

PLATINUM: Weeks 21–35			
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
1 BR	480	960	4,800
1 BR+	620	1,240	6,200
2 BR	700	1,400	7,000
2 BR+	840	1,680	8,400
3 BR+	960	1,920	9,600

GOLD: Weeks 8–20, 36–47, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 BR	340	680	3,400	
1 BR+	420	840	4,200	
2 BR	500	1,000	5,000	
2 BR+	580	1,160	5,800	
3 BR+	700	1,400	7,000	

SILVER: Weeks 1-7, 48-50				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
1 BR	240	480	2,400	
1 BR+	300	600	3,000	
2 BR	350	700	3,500	
2 BR+	410	820	4,100	
3 BR+	480	960	4,800	

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

ſ	1 BR	\$145	\$168	\$1,084
	1 BR+	\$145	\$168	\$1,084
Ī	2 BR	\$256	\$282	\$1,870
	2 BR+	\$256	\$282	\$1,870
Γ	3 BR+	\$382	\$383	\$2,677

1 BR	\$132	\$141	\$951
1 BR+	\$132	\$141	\$951
2 BR	\$221	\$248	\$1,628
2 BR+	\$221	\$248	\$1,628
3 BR+	\$290	\$316	\$2,108

ı	lays prior to check-out)				
	1 BR	\$111	\$121	\$807	
	1 BR+	\$111	\$121	\$807	
	2 BR	\$173	\$195	\$1,277	
	2 BR+	\$173	\$195	\$1,277	
	3 BR+	\$278	\$297	\$2,003	

Ocean Oak Resort by Hilton Grand Vacations

MBV Vacation Suites (Hilton Head Island, SC)

POINT REQUIREMENTS

PLATINUM: Weeks 21–35				
M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
700	1,400	7,000		
840	1,680	8,400		
960	1,920	9,600		
	Weeks M-TH NIGHTLY 700 840	Weeks 21–35 M-TH NIGHTLY F-SU NIGHTLY 700 1,400 840 1,680		

GOLD: Weeks 8–20, 36–47, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
2 BR	500	1,000	5,000	
2 BR+	580	1,160	5,800	
2 BR Prem.	700	1,400	7,000	

SILVER: Weeks 1–7, 48–50				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
2 BR	350	700	3,500	
2 BR+	410	820	4,100	
2 BR Prem.	480	960	4,800	

2 BR	\$256	\$282	\$1,870
2 BR+	\$256	\$282	\$1,870
2 BR Prem.	\$256	\$282	\$1,870

2 BR	\$221	\$248	\$1,628
2 BR+	\$221	\$248	\$1,628
2 BR Prem.	\$221	\$248	\$1,628

J 1				
2 BR	\$173	\$195	\$1,277	
2 BR+	\$173	\$195	\$1,277	
2 BR Prem.	\$173	\$195	\$1,277	

SOUTH CAROLINA RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Ocean Enclave by Hilton Grand Vacations

OE Vacation Suites (Myrtle Beach, SC)

POINT REQUIREMENTS

	PLATINUM: Weeks 18–39			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 BR	480	960	4,800	
1 BR Plus	620	1,240	6,200	
1 BR Prem.	840	1,680	8,400	
2 BR	700	1,400	7,000	
2 BR Plus	840	1,680	8,400	
2 BR Prem.	960	1,920	9,600	
3 BR Plus	960	1,920	9,600	
3 BR Prem.	1,800	3,600	18,000	

GOLD: Weeks 8–17, 40-47, 51–52				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
1 BR	340	680	3,400	
1 BR Plus	420	840	4,200	
1 BR Prem.	580	1,160	5,800	
2 BR	500	1,000	5,000	
2 BR Plus	580	1,160	5,800	
2 BR Prem.	700	1,400	7,000	
3 BR Plus	700	1,400	7,000	
3 BR Prem.	1,280	2,560	12,800	

SILVER: Weeks 1–7, 48–50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 BR	240	480	2,400	
1 BR Plus	300	600	3,000	
1 BR Prem.	410	820	4,100	
2 BR	350	700	3,500	
2 BR Plus	410	820	4,100	
2 BR Prem.	480	960	4,800	
3 BR Plus	480	960	4,800	
3 BR Prem.	890	1,780	8,900	

1 BR	\$145	\$168	\$1,084
1 BR Plus	\$145	\$168	\$1,084
1 BR Prem.	\$145	\$168	\$1,084
2 BR	\$256	\$282	\$1,870
2 BR Plus	\$256	\$282	\$1,870
2 BR Prem.	\$256	\$282	\$1,870
3 BR Plus	\$382	\$383	\$2,677
3 BR Prem.	\$382	\$383	\$2,677

LI KENTAL KATES (OCGITTING S			
\$132	\$141	\$951	
\$132	\$141	\$951	
\$132	\$141	\$951	
\$221	\$248	\$1,628	
\$221	\$248	\$1,628	
\$221	\$248	\$1,628	
\$290	\$316	\$2,108	
\$290	\$316	\$2,108	
	\$132 \$132 \$132 \$221 \$221 \$221 \$290	\$132 \$141 \$132 \$141 \$132 \$141 \$132 \$141 \$221 \$248 \$221 \$248 \$221 \$248 \$290 \$316	

ays prior to eneck out				
1 BR	\$111	\$121	\$807	
1 BR Plus	\$111	\$121	\$807	
1 BR Prem.	\$111	\$121	\$807	
2 BR	\$173	\$195	\$1,277	
2 BR Plus	\$173	\$195	\$1,277	
2 BR Prem.	\$173	\$195	\$1,277	
3 BR Plus	\$278	\$297	\$2,003	
3 BR Prem.	\$278	\$297	\$2,003	

SOUTH CAROLINA RESORT:

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates, Continued

Reservation Windows for South Carolina Resort

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Liberty Place Charleston by Hilton Club

Liberty Place Vacation Suites (Charleston, SC)

POINT REQUIREMENTS

PLATINUM: Weeks 9–47, 52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	340	680	3,400	
Studio Plus	525	1,050	5,250	
Studio Premier	930	1,860	9,300	
1 Bedroom Small	480	960	4,800	
1 Bedroom Large	720	1,440	7,200	
1 Bedroom Plus Large	930	1,860	9,300	
1 Bedroom Premier Small	840	1,680	8,400	
1 Bedroom Premier Large	1,260	2,520	12,600	
2 Bedroom	1,050	2,100	10,500	
2 Bedroom Plus	1,260	2,520	12,600	

GOLD: Weeks 1-8, 48-51				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio	240	480	2,400	
Studio Plus	375	750	3,750	
Studio Premier	630	1,260	6,300	
1 Bedroom Small	340	680	3,400	
1 Bedroom Large	510	1,020	5,100	
1 Bedroom Plus Large	630	1,260	6,300	
1 Bedroom Premier Small	580	1,160	5,800	
1 Bedroom Premier Large	870	1,740	8,700	
2 Bedroom	750	1,500	7,500	
2 Bedroom Plus	870	1,740	8,700	

ILLINOIS RESORT:

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for Illinois Resort

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations Chicago Downtown/Magnificent Mile

MM Vacation Suites (Chicago, IL)

POINT REQUIREMENTS

PLATINUM: Weeks 17–44, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio Plus	480	960	4,800	
Studio Prem.	720	1,440	7,200	
1 BR Plus	840	1,680	8,400	
1 BR Prem.	960	1,920	9,600	

GOLD: Weeks 9–16, 45–50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio Plus	340	680	3,400	
Studio Prem.	510	1,020	5,100	
1 BR Plus	580	1,160	5,800	
1 BR Prem.	700	1,400	7,000	

SILVER: Weeks 1–8				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio Plus	240	480	2,400	
Studio Prem.	360	720	3,600	
1 BR Plus	420	840	4,200	
1 BR Prem.	480	960	4,800	

Studio Plus	\$156	\$167	\$1,125
Studio Prem.	\$156	\$167	\$1,125
1 BR Plus	\$217	\$227	\$1,549
1 BR Prem.	\$217	\$227	\$1,549

Studio Plus	\$140	\$155	\$1,025
Studio Prem.	\$140	\$155	\$1,025
1 BR Plus	\$175	\$204	\$1,312
1 BR Prem.	\$175	\$204	\$1,312

Studio Plus	\$102	\$125	\$783
Studio Prem.	\$102	\$125	\$783
1 BR Plus	\$154	\$177	\$1,147
1 BR Prem.	\$154	\$177	\$1,147

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for the following Urban Resort

365 DAYS	276 DAYS	59 DAYS	30 DAYS
HOME WEEK	HOME RESORT PRIORITY Reservation Window begins 276–60 days prior to check-out	CLUB	OPEN SEASON
PRIORITY		SEASON	Rental
Reservation Window		Reservation Window	Reservation Window
begins 365–276 days		begins 59 days	begins 30 days
prior to check-in		prior to check-out	prior to check-out

West 57th Street by Hilton Club

West 57th Vacation Suites (New York, NY)

POINT REQUIREMENTS

PLATINUM: Weeks 7–28, 35–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio Plus	525	1,050	5,250	
Studio Prem.	720	1,440	7,200	
1 Bedroom	720	1,440	7,200	
1 Bedroom Plus	930	1,860	9,300	
1 Bedroom Prem.	1,260	2,520	12,600	
1 Bedroom Pent.	1,680	3,360	16,800	

GOLD: Weeks 1-6, 29-34				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio Plus	375	750	3,750	
Studio Prem.	510	1,020	5,100	
1 Bedroom	510	1,020	5,100	
1 Bedroom Plus	630	1,260	6,300	
1 Bedroom Prem.	870	1,740	8,700	
1 Bedroom Pent.	1,160	2,320	11,600	

Studio Plus	\$263	\$283	\$1,901
Studio Prem.	\$263	\$283	\$1,901
1 Bedroom	\$295	\$302	\$2,086
1 Bedroom Plus	\$295	\$302	\$2,086
1 Bedroom Prem.	\$295	\$302	\$2,086
1 Bedroom Pent.	\$711	\$770	\$5,154

(0 0)			
Studio Plus	\$220	\$230	\$1,570
Studio Prem.	\$220	\$230	\$1,570
1 Bedroom	\$253	\$289	\$1,879
1 Bedroom Plus	\$253	\$289	\$1,879
1 Bedroom Prem.	\$253	\$289	\$1,879
1 Bedroom Pent.	\$592	\$617	\$4,219

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates, Continued

Reservation Windows for the following Cosmopolitan Resorts

365 DAYS	276 DAYS	104 DAYS	89 DAYS	30 DAYS
HOME WEEK PRIORITY Reservation Window begins 365-276 days prior to check-in	HOME RESORT PRIORITY Reservation Window begins 276–105 days prior to check-out	BY HILTON CLUB PRIORITY Reservation Window begins 104–90 days prior to check-out	CLUB SEASON Reservation Window begins 89 days prior to check-out	OPEN SEASON Reservation Window begins 30 days prior to check-out

The Residences by Hilton Club

The Residences HC Suites (New York, NY)

POINT REQUIREMENTS

PLATINUM: Weeks 7-28, 35-52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio Prem.	720	1,440	7,200	
Studio Prem. Plus	1,050	2,100	10,500	
Studio Pent.	1,440	2,880	14,400	
1 Bedroom Prem.	1,260	2,520	12,600	
1 Bedroom Pent.	1,680	3,360	16,800	

GOLD: Weeks 1-6, 29-34				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio Prem.	510	1,020	5,100	
Studio Prem. Plus	750	1,500	7,500	
Studio Pent.	1,050	2,100	10,500	
1 Bedroom Prem.	870	1,740	8,700	
1 Bedroom Pent.	1,160	2,320	11,600	

Studio Prem.	\$320	\$360	\$2,360
Studio Prem. Plus	\$320	\$360	\$2,360
Studio Pent.	\$480	\$540	\$3,540
1 Bedroom Prem.	\$526	\$565	\$3,799
1 Bedroom Pent.	\$789	\$848	\$5,700

(0 0)		,	
Studio Prem.	\$268	\$302	\$1,978
Studio Prem. Plus	\$268	\$302	\$1,978
Studio Pent.	\$402	\$453	\$2,967
1 Bedroom Prem.	\$438	\$482	\$3,198
1 Bedroom Pent.	\$657	\$723	\$4,797

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates, Continued

The District by Hilton Club

TD Suites (Washington, D.C.)

POINT REQUIREMENTS

PLATINUM: Weeks 10-32, 37-43				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	720	1,440	7,200	
1 Bedroom Plus	930	1,860	9,300	
2 Bedroom Premier	1,440	2,880	14,400	

GOLD: Weeks 1-9, 33-36, 44-52				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	510	1,020	5,100	
1 Bedroom Plus	630	1,260	6,300	
2 Bedroom Premier	1,050	2,100	10,500	

1 Bedroom	\$196	\$216	\$1,432
1 Bedroom Plus	\$196	\$216	\$1,432
2 Bedroom Premier	\$322	\$342	\$2,314

1 Bedroom	\$139	\$149	\$1,003
1 Bedroom Plus	\$139	\$149	\$1,003
2 Bedroom Premier	\$299	\$309	\$2,123

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates, Continued

The Central at 5th by Hilton Club

48th Street Vacation Suites (New York, NY)

POINT REQUIREMENTS

PLATINUM: Weeks 7–28, 35–52				
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK	
Studio	525	1,050	5,250	
Studio Plus	720	1,440	7,200	
Studio Premier	930	1,860	9,300	
Studio Premier Plus	1,260	2,520	12,600	
Studio Penthouse	1,440	2,880	14,400	
1 Bedroom Premier Plus	1,680	3,360	16,800	
1 Bedroom Penthouse	2,100	4,200	21,000	

GOLD: Weeks 1-6, 29-34			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	375	750	3,750
Studio Plus	510	1,020	5,100
Studio Premier	630	1,260	6,300
Studio Premier Plus	870	1,740	8,700
Studio Penthouse	1,050	2,100	10,500
1 Bedroom Premier Plus	1,160	2,320	11,600
1 Bedroom Penthouse	1,450	2,900	14,500

Studio	\$263	\$283	\$1,901
Studio Plus	\$263	\$283	\$1,901
Studio Premier	\$263	\$283	\$1,901
Studio Premier Plus	\$263	\$283	\$1,901
Studio Penthouse	\$395	\$425	\$2,855
1 Bedroom Premier Plus	\$295	\$302	\$2,086
1 Bedroom Penthouse	\$711	\$770	\$5,154

(0 0)	1	,	
Studio	\$220	\$230	\$1,570
Studio Plus	\$220	\$230	\$1,570
Studio Premier	\$220	\$230	\$1,570
Studio Premier Plus	\$220	\$230	\$1,570
Studio Penthouse	\$330	\$345	\$2,355
1 Bedroom Premier Plus	\$253	\$289	\$1,879
1 Bedroom Penthouse	\$592	\$617	\$4,219

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates, Continued

The Quin by Hilton Club

Central Park Vacation Suites (Quin) (New York, NY)

POINT REQUIREMENTS

PLATINUM: Weeks 7–28, 35–52			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	525	1,050	5,250
Studio Plus	720	1,440	7,200
Studio Premier	930	1,860	9,300
Studio Premier Plus	1,260	2,520	12,600
Studio Penthouse	1,440	2,880	14,400
1 Bedroom Premier	1,260	2,520	12,600
1 Bedroom Premier Plus	1,680	3,360	16,800
1 Bedroom Penthouse	2,100	4,200	21,000

GOLD: Weeks 1-6, 29-34			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio	375	750	3,750
Studio Plus	510	1,020	5,100
Studio Premier	630	1,260	6,300
Studio Premier Plus	870	1,740	8,700
Studio Penthouse	1,050	2,100	10,500
1 Bedroom Premier	870	1,740	8,700
1 Bedroom Premier Plus	1,160	2,320	11,600
1 Bedroom Penthouse	1,450	2,900	14,500

Studio	\$263	\$283	\$1,901
Studio Plus	\$263	\$283	\$1,901
Studio Premier	\$263	\$283	\$1,901
Studio Premier Plus	\$263	\$283	\$1,901
Studio Penthouse	\$395	\$425	\$2,855
1 Bedroom Premier	\$295	\$302	\$2,086
1 Bedroom Premier Plus	\$295	\$302	\$2,086
1 Bedroom Penthouse	\$711	\$770	\$5,154

Studio	\$220	\$230	\$1,570
Studio Plus	\$220	\$230	\$1,570
Studio Premier	\$220	\$230	\$1,570
Studio Premier Plus	\$220	\$230	\$1,570
Studio Penthouse	\$330	\$345	\$2,355
1 Bedroom Premier	\$253	\$289	\$1,879
1 Bedroom Premier Plus	\$253	\$289	\$1,879
1 Bedroom Penthouse	\$592	\$617	\$4,219

CARIBBEAN RESORTS:

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for Caribbean Resort

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations at The Crane

Barbados Vacation Suites (Barbados, West Indies)

POINT REQUIREMENTS

PLATINUM: Weeks 1-16, 24-32, 51-52			
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio Plus	525	1,050	5,250
1 BR Park	620	1,240	6,200
1 BR Park Deluxe	720	1,440	7,200
1 BR Park w/garden and pool	840	1,680	8,400
1 BR Park w/rooftop pool	930	1,860	9,300
1 BR Ocean Deluxe	1,050	2,100	10,500
1 BR Park Deluxe w/rooftop pool	1,050	2,100	10,500
1 BR Ocean w/plunge pool	1,440	2,880	14,400
1 BR Ocean Deluxe w/28' pool	1,680	3,360	16,800
2 BR Park w/garden and pool	1,440	2,880	14,400
2 BR Ocean w/plunge pool	1,750	3,500	17,500
2 BR Ocean w/28' pool	1,920	3,840	19,200
2 BR Ocean Penthouse w/plunge pool	1,920	3,840	19,200
3 BR Ocean Penthouse w/plunge pool	2,400	4,800	24,000

GOLD: Weeks 17-23, 33-50			
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio Plus	375	750	3,750
1 BR Park	420	840	4,200
1 BR Park Deluxe	510	1,020	5,100
1 BR Park w/garden and pool	580	1,160	5,800
1 BR Park w/rooftop pool	630	1,260	6,300
1 BR Ocean Deluxe	750	1,500	7,500
1 BR Park Deluxe w/rooftop pool	750	1,500	7,500
1 BR Ocean w/plunge pool	1,050	2,100	10,500
1 BR Ocean Deluxe w/28' pool	1,160	2,320	11,600
2 BR Park w/garden and pool	1,050	2,100	10,500
2 BR Ocean w/ plunge pool	1,250	2,500	12,500
2 BR Ocean w/28' pool	1,400	2,800	14,000
2 BR Ocean Penthouse w/plunge pool	1,400	2,800	14,000
3 BR Ocean Penthouse w/plunge pool	1,750	3,500	17,500

CARIBBEAN RESORTS:

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Hilton Grand Vacations at The Crane, Continued

Barbados Vacation Suites (Barbados, West Indies)

PLATINUM: Weeks 1–16, 24–32, 51–52		GOLD: Weeks 17-23, 33-50					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
Studio Plus	\$489	\$599	\$3,753	Studio Plus	\$239	\$324	\$1,928
1 BR Park	\$726	\$935	\$5,709	1 BR Park	\$368	\$499	\$2,969
1 BR Park Deluxe	\$726	\$935	\$5,709	1 BR Park Deluxe	\$368	\$499	\$2,969
1 BR Park w/garden and pool	\$726	\$935	\$5,709	1 BR Park w/garden and pool	\$368	\$499	\$2,969
1 BR Park w/rooftop pool	\$726	\$935	\$5,709	1 BR Park w/rooftop pool	\$368	\$499	\$2,969
1 BR Ocean Deluxe	\$726	\$935	\$5,709	1 BR Ocean Deluxe	\$368	\$499	\$2,969
1 BR Park Deluxe w/rooftop pool	\$726	\$935	\$5,709	1 BR Park Deluxe w/rooftop pool	\$368	\$499	\$2,969
1 BR Ocean w/plunge pool	\$726	\$935	\$5,709	1 BR Ocean w/plunge pool	\$368	\$499	\$2,969
1 BR Ocean Deluxe w/28' pool	\$726	\$935	\$5,709	1 BR Ocean Deluxe w/28' pool	\$368	\$499	\$2,969
2 BR Park w/garden and pool	\$1,145	\$1,537	\$9,191	2 BR Park w/garden and pool	\$589	\$750	\$4,606
2 BR Ocean w/plunge pool	\$1,145	\$1,537	\$9,191	2 BR Ocean w/ plunge pool	\$589	\$750	\$4,606
2 BR Ocean w/28' pool	\$1,145	\$1,537	\$9,191	2 BR Ocean w/28' pool	\$589	\$750	\$4,606
2 BR Ocean Penthouse w/plunge pool	\$1,718	\$2,306	\$13,790	2 BR Ocean Penthouse w/plunge pool	\$884	\$1,125	\$6,911
3 BR Ocean Penthouse w/plunge pool	\$1,823	\$2,436	\$14,600	3 BR Ocean Penthouse w/plunge pool	\$945	\$1,319	\$7,737

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for European Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Hilton Grand Vacations at Borgo alle Vigne

Borgo Alle Vigne Fractional Ownership Project (Italy)

POINT REQUIREMENTS

PLATINUM: Weeks 1, 13-39, 52				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	480	960	4,800	
1 Bedroom Plus	620	1,240	6,200	
2 Bedroom	700	1,400	7,000	
2 Bedroom Plus	840	1,680	8,400	
3 Bedroom	840	1,680	8,400	
3 Bedroom Prem.	1,150	2,300	11,500	

GOLD: Weeks 2-12, 40-51				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
1 Bedroom	340	680	3,400	
1 Bedroom Plus	420	840	4,200	
2 Bedroom	500	1,000	5,000	
2 Bedroom Plus	580	1,160	5,800	
3 Bedroom	580	1,160	5,800	
3 Bedroom Prem.	960	1,920	9,600	

1 Bedroom	\$165	\$192	\$1,236
1 Bedroom Plus	\$165	\$192	\$1,236
2 Bedroom	\$192	\$220	\$1,428
2 Bedroom Plus	\$192	\$220	\$1,428
3 Bedroom	\$273	\$312	\$2,028
3 Bedroom Prem.	\$273	\$312	\$2,028

1 Bedroom	\$130	\$152	\$976
1 Bedroom Plus	\$130	\$152	\$976
2 Bedroom	\$156	\$178	\$1,158
2 Bedroom Plus	\$156	\$178	\$1,158
3 Bedroom	\$238	\$260	\$1,732
3 Bedroom Prem.	\$238	\$260	\$1,732

ClubPoints Requirements and Open Season Rental Rates, Continued

Hilton Grand Vacations at Coylumbridge

Lodges at Hilton Coylumbridge Hotel, Aviemore (Scotland)

POINT REQUIREMENTS

PLATINUM: Weeks 14-15, 21-43, 51-52				
	UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
	2 Bedroom	700	1,400	7,000
	3 Bedroom	840	1,680	8,400

GOLD: Weeks 7-13, 16-20			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
2 Bedroom	500	1,000	5,000
3 Bedroom	580	1,160	5,800

SILVER:	Weeks 5-6	6, 44–47	
2 Bedroom	350	700	3,500
3 Bedroom	410	820	4,100

BRONZE:	4, 48–50		
2 Bedroom	250	500	2,500
3 Bedroom	300	600	3,000

PLATINUM: We	eks 14–15,	21–43, 51	-52
2 Bedroom	\$196	\$219	\$1,441
3 Bedroom	\$263	\$295	\$1,937

GOLD: V	Veeks 7–13	, 16–20	
2 Bedroom	\$174	\$183	\$1,245
3 Bedroom	\$229	\$236	\$1,624

SILVER: Weeks 5-6, 44-47				
2 Bedroom	\$152	\$164	\$1,100	
3 Bedroom	\$217	\$239	\$1,585	

BRONZE: Weeks 1-4, 48-50					
2 Bedroom	\$152	\$164	\$1,100		
3 Bedroom	\$217	\$239	\$1,585		

ClubPoints Requirements and Open Season Rental Rates, Continued

Hilton Grand Vacations at Craigendarroch Lodges

Craigendarroch Lodges (Scotland)

POINT REQUIREMENTS

PLATINUM: Weeks 1, 14–15, 21–43, 51–52					
UNIT SIZE M-TH F-SU 7 NIG NIGHTLY NIGHTLY WEE					
1 Bedroom	480	960	4,800		
2 Bedroom	700	1,400	7,000		
3 Bedroom	840	1,680	8,400		
3 Bedroom Plus	960	1,920	9,600		

GOLD: Weeks 7–13, 16–20					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
1 Bedroom	340	680	3,400		
2 Bedroom	500	1,000	5,000		
3 Bedroom	580	1,160	5,800		
3 Bedroom Plus	700	1,400	7,000		

SILVER: Weeks 5-6, 44-47				
1 Bedroom	240	480	2,400	
2 Bedroom	350	700	3,500	
3 Bedroom	410	820	4,100	
3 Bedroom Plus	480	960	4,800	

BRONZE: Weeks 2-4, 48-50					
1 Bedroom	170	340	1,700		
2 Bedroom	250	500	2,500		
3 Bedroom	300	600	3,000		
3 Bedroom Plus	340	680	3,400		

PLATINUM: Weeks 1, 14-15, 21-43, 51-52				
1 Bedroom	\$157	\$185	\$1,183	
2 Bedroom	\$196	\$219	\$1,441	
3 Bedroom	\$263	\$295	\$1,937	
3 Bedroom Plus	\$263	\$295	\$1,937	

GOLD: Weeks 7-13, 16-20				
1 Bedroom	\$127	\$149	\$955	
2 Bedroom	\$174	\$183	\$1,245	
3 Bedroom	\$229	\$236	\$1,624	
3 Bedroom Plus	\$229	\$236	\$1,624	

SILVER: Weeks 5-6, 44-47				
1 Bedroom	\$121	\$131	\$877	
2 Bedroom	\$152	\$164	\$1,100	
3 Bedroom	\$217	\$239	\$1,585	
3 Bedroom Plus	\$217	\$239	\$1,585	

BRONZE: Weeks 2–4, 48–50				
1 Bedroom	\$121	\$131	\$877	
2 Bedroom	\$152	\$164	\$1,100	
3 Bedroom	\$217	\$239	\$1,585	
3 Bedroom Plus	\$217	\$239	\$1,585	

ClubPoints Requirements and Open Season Rental Rates, Continued

Hilton Grand Vacations at Craigendarroch Suites

Craigendarroch Suites (Scotland)

POINT PEOLIDEMENTS

Weel	PLATINUM: Weeks 1, 14–15, 21–43, 52					
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK			
Studio Plus	350	700	3,500			
Studio Prem.	620	1,240	6,200			
1 BR Prem.	840	1,680	8,400			
2 BR Prem.	960	1,920	9,600			

POINT REQUIREMENTS						
GOLD: Weeks 7–13, 16–20						
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK			
Studio Plus	250	500	2,500			
Studio Prem.	420	840	4,200			
1 BR Prem.	580	1,160	5,800			
2 BR Prem.	700	1,400	7,000			

SILVER: Weeks 2–6, 44–51						
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK			
Studio Plus	170	340	1,700			
Studio Prem.	300	600	3,000			
1 BR Prem.	410	820	4,100			
2 BR Prem.	480	960	4,800			

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 da

	01 211 327 13011 1110			
Studio Plus	\$128	\$145	\$947	
Studio Prem.	\$128	\$145	\$947	
1 BR Prem.	\$157	\$185	\$1,183	
2 BR Prem.	\$196	\$219	\$1,441	

REITIAE RATES (Deginning 30				
Studio Plus	\$100	\$123	\$769	
Studio Prem.	\$100	\$123	\$769	
1 BR Prem.	\$127	\$149	\$955	
2 BR Prem.	\$174	\$183	\$1,245	

la	ays prior to check-out)					
	Studio Plus	\$89	\$112	\$692		
	Studio Prem.	\$89	\$112	\$692		
	1 BR Prem.	\$121	\$131	\$877		
	2 BR Prem.	\$152	\$164	\$1,100		

ClubPoints Requirements and Open Season Rental Rates, Continued

Hilton Grand Vacations at Dunkeld

Lodges at Hilton Dunkeld House Hotel, Dunkeld (Scotland)

POINT REQUIREMENTS

PLATINUM: Weeks 14-15, 21-43, 51-52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
2 Bedroom	700	1,400	7,000	
3 Bedroom	840	1,680	8,400	

GOLD: Weeks 7-13, 16-20					
	UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
	2 Bedroom	500	1,000	5,000	
	3 Bedroom	580	1,160	5,800	

SILVER: Weeks 5-6, 44-47				
2 Bedroom	350	700	3,500	
3 Bedroom	410	820	4,100	

BRONZE: Weeks 1-4, 48-50				
2 Bedroom	250	500	2,500	
3 Bedroom	300	600	3,000	

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

PLATINUM: Weeks 14-15, 21-43, 51-52				
2 Bedroom	\$196	\$219	\$1,441	
3 Bedroom	\$263	\$295	\$1,937	

GOLD: Weeks 7-13, 16-20				
2 Bedroom	\$174	\$183	\$1,245	
3 Bedroom	\$229	\$236	\$1,624	

SILVER: Weeks 5-6, 44-47				
2 Bedroom	\$152	\$164	\$1,100	
3 Bedroom	\$217	\$239	\$1,585	

BRONZE: Weeks 1-4, 48-50				
2 Bedroom	\$152	\$164	\$1,100	
3 Bedroom	\$217	\$239	\$1,585	

Hilton Vilamoura Vacation Club

Hilton Vilamoura as Cascatas Vacation Ownership Club (Portugal)

POINT REQUIREMENTS

PLATINUM: Weeks 14–15, 20–43, 51–52					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
1 BR	480	960	4,800		
2 BR	700	1,400	7,000		

GOLD: Weeks 7–13, 16–19, 44–45					
UNIT SIZE	F-SU Nightly	7 NIGHT WEEK			
1 BR	340	680	3,400		
2 BR	500	1,000	5,000		

SILVER: Weeks 1–6, 46–50					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
1 BR	240	480	2,400		
2 BR	350	700	3,500		

1 BR	\$165	\$192	\$1,236
2 BR	\$192	\$220	\$1,428

1 BR	\$130	\$152	\$976
2 BR	\$156	\$178	\$1,158

1 BR	\$119	\$141	\$899
2 BR	\$145	\$167	\$1,081

ASIAN RESORTS:

ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for Asian Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

The Bay Forest Odawara by Hilton Club

The Bay Forest Odawara by Hilton Club (Odawara, Japan)

POINT REQUIREMENTS

PLATINUM: V 29–38,	Veeks 1–2, , 41, 45–47,		2,
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
1 Bedroom Cottage	1,440	2,880	14,400

	GOLD: Weeks 3–6, 19, 21, 23–28, 39–40, 42–44, 48–50					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK			
1 Bedroom Cottage	1,050	2,100	10,500			

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

1 Bedroom Cottage	\$282	\$371	\$2,241		1 Bed Cottag
----------------------	-------	-------	---------	--	-----------------

1 Bedroom	1 Bedroom Cottage	\$245	\$315	\$1,925
-----------	----------------------	-------	-------	---------

The Beach Resort Sesoko by Hilton Club

(Okinawa, Japan)

POINT REQUIREMENTS

PLATINUM: Weeks	ATINUM: Weeks 1, 12, 13, 17, 18, 23-43, 51, 52		3, 51, 52	GOLD: Weeks 2-11, 14-16,19-22 44-50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK			7 NIGHT WEEK	
Studio Plus	840	1,680	8,400	Studio Plus	620	1,240	6,200
Studio Premier	1,260	2,520	12,600	Studio Premier	870	1,740	8,700
Studio Prem. Plus	1,440	2,880	14,400	Studio Prem. Plus	1,050	2,100	10,500
1 Bedroom Plus	1,260	2,520	12,600	1 Bedroom Plus	870	1,740	8,700
1 Bedroom Prem.	1,440	2,880	14,400	1 Bedroom Prem.	1,050	2,100	10,500
1 BR Prem. Plus	1,680	3,360	16,800	1 BR Prem. Plus	1,160	2,320	11,600
2 Bedroom Plus	1,440	2,880	14,400	2 Bedroom Plus	1,050	2,100	10,500
2 Bedroom Premier	1,680	3,360	16,800	2 Bedroom Premier	1,160	2,320	11,600
2 BR Prem. Plus	2,100	4,200	21,000	2 BR Prem. Plus	1,680	3,360	16,800
3 Bedroom Prem.	2,400	4,800	24,000	3 Bedroom Prem.	1,920	3,840	19,200
3 BR Prem. Plus	2,875	5,750	28,750	3 BR Prem. Plus	2,400	4,800	24,000

MEXICAN RESORT:

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

La Pacifica Los Cabos by Hilton Club

(Los Cabos, Mexico)

POINT REQUIREMENTS

PLATINUM: Weeks 1-18, 26-34, 51-52							
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK				
Studio	620	1,240	6,200				
Studio Plus	840	1,680	8,400				
Studio Prem.	1,260	2,520	12,600				
Studio Prem. Plus	1,440	2,880	14,400				
1 BR Prem.	1,440	2,880	14,400				
1 BR Prem. Plus	1,680	3,360	16,800				
2 BR Prem.	1,680	3,360	16,800				

· · · · · · · · · · · · · · · · · · ·								
GOLD: Weeks 19-25, 40-50								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
Studio	480	960	4,800					
Studio Plus	620	1,240	6,200					
Studio Prem.	870	1,740	8,700					
Studio Prem. Plus	1,050	2,100	10,500					
1 BR Prem.	1,050	2,100	10,500					
1 BR Prem. Plus	1,160	2,320	11,600					
2 BR Prem.	1,160	2,320	11,600					

SILVER: Weeks 35-39						
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK			
Studio	340	680	3,400			
Studio Plus	480	960	4,800			
Studio Prem.	615	1,230	6,150			
Studio Prem. Plus	720	1,440	7,200			
1 BR Prem.	720	1,440	7,200			
1 BR Prem. Plus	840	1,680	8,400			
2 BR Prem.	840	1,680	8,400			

Studio	\$175	\$200	\$1,300		
Studio Plus	\$175	\$200	\$1,300		
Studio Prem.	\$175	\$200	\$1,300		
Studio Prem. Plus	\$175	\$200	\$1,300		
1 BR Prem.	\$205	\$230	\$1,510		
1 BR Prem. Plus	\$205	\$230	\$1,510		
2 BR Prem.	\$235	\$260	\$1,720		

	\$150	\$910
\$115	\$150	\$910
\$115	\$150	\$910
\$115	\$150	\$910
\$145	\$180	\$1,120
\$145	\$180	\$1,120
\$175	\$210	\$1,330
	\$115 \$115 \$145 \$145	\$115 \$150 \$115 \$150 \$145 \$180 \$145 \$180

ady o priror		n out	
Studio	\$105	\$125	\$795
Studio Plus	\$105	\$125	\$795
Studio Prem.	\$105	\$125	\$795
Studio Prem. Plus	\$105	\$125	\$795
1 BR Prem.	\$125	\$155	\$965
1 BR Prem. Plus	\$125	\$155	\$965
2 BR Prem.	\$155	\$185	\$1,175

Reservation Windows, ClubPoints Requirements and Open Season Rental Rates

Reservation Windows for South Florida Resorts

365 DAYS	276 DAYS	30 DAYS
HOME WEEK PRIORITY	CLUB SEASON	OPEN SEASON
Reservation Window	Reservation Window	Rental Reservation Window
begins 365–276 days	begins 276 days	begins 30 days
prior to check-in	prior to check-out	prior to check-out

Harbourview Villas at South Seas Island Resort

Harbourview Villas at South Seas Resort Condominium Association, Inc. (Captiva Island, FL)

POINT REQUIREMENTS GOLD:

Weeks 7–13, 51–52						
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK			
2 BR	700	1,400	7,000			
3 BR	840	1,680	8,400			

PLATINUM:

Weeks 1-6, 14-18, 24-33, 43-48						
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK			
2 BR	500	1,000	5,000			
3 BR	580	1,160	5,800			

Weeks 19-23, 34-42, 49-50						
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK			
2 BR	350	700	3,500			
3 BR	410	820	4,100			

SILVER:

2 BR	\$184	\$199	\$1,333	2 BR	\$167	\$171	\$1,181	2 BR	\$152	\$169	\$1,115
3 BR	\$250	\$269	\$1,807	3 BR	\$232	\$246	\$1,666	3 BR	\$228	\$238	\$1,626

ClubPoints Requirements and Open Season Rental Rates, Continued

Plantation Bay Villas at South Seas Island Resort

Plantation Bay Villas Owners Association, Inc. (Captiva Island, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7–13, 51–52							
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK				
3 BR	840	1,680	8,400				

GOLD: Weeks 1-6, 14-18, 24-33, 43-48							
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK				
3 BR	580	1,160	5,800				

SILVER: Weeks 19–23, 34–42, 49–50								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
3 BR	410	820	4,100					

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

3 BR	\$250	\$269	\$1.807		3 BR	\$232	\$246	\$1.666	3 BR	\$228	\$238	\$1.626
0 5	ΨΕσσ	Ψ=00	Ψ.,σσ.	L	0 5.1	Ψ=0=	ΨΕ.Ο	Ψ.,σσσ	0 5	ΨLLU	Ψ200	Ψ.,σΕσ

Plantation Beach Club at South Seas Island Resort

Plantation Beach Club Owners Association, Inc. Plantation Beach Club Owners Association, Inc. II Plantation Beach Club Owners Association, Inc. III (Captiva Island, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7–13, 51–52									
UNIT SIZE	M-TH Nightly	F-SU NIGHTLY	7 NIGHT WEEK						
2 BR	700	1,400	7,000						

GULD: Weeks 1-6, 14-18, 24-33, 43-48							
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK				
2 BR	500	1,000	5,000				

SILVER: Weeks 19–23, 34–42, 49–50							
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK				
2 BR	350	700	3,500				

2 BR	\$152 \$169 \$1,115
------	---------------------

ClubPoints Requirements and Open Season Rental Rates, Continued

Plantation House at South Seas Island Resort

Plantation House Condominium Owners Association, Inc. (Captiva Island, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7–13, 51–52								
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK					
2 BR	700	1,400	7,000					

GOLD: Weeks 1–6, 14–18, 24–33, 43–48							
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK				
2 BR	500	1,000	5,000				

SILVER: Weeks 19–23, 34–42, 49–50								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
2 BR	350 700 3,50							

2 BR	\$184	\$199	\$1,333	2 BR	\$167	\$171	\$1.181	2 BR	\$152	\$169	\$1.115
Z DN	φ104	φισσ	φ1,333	Z DN	φ101	φ1/1	φ1,101	Z DN	Φ102	φιυσ	φ1,110

ClubPoints Requirements and Open Season Rental Rates, Continued

South Seas Club at South Seas Island Resort

The South Seas Club Condominium Association, Inc. (Captiva Island, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7-13, 51-52 UNIT SIZE M-TH F-SU 7 NIGHT WEEK 2 BR 700 1,400 7,000

GOLD: Weeks 1-6, 14-18, 24-33, 43-48							
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK				
2 BR	500	1,000	5,000				

SILVER: Weeks 19–23, 34–42, 49–50			
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
2 BR	350	700	3,500

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

2 BR	181
------	-----

- 1			
2 BR	\$152	\$169	\$1,115

The Cottages at South Seas Island Resort

The Cottages at South Seas Plantation Condominium Association, Inc. (Captiva Island, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7–13, 51–52

UNIT SIZE	M-TH	F-SU	7 NIGHT
	NIGHTLY	NIGHTLY	WEEK
2 BR Plus	840	1,680	8,400

Weeks 1-6, 14-18, 24-33, 43-48					
UNIT SIZE M-TH F-SU 7 NIGHT NIGHTLY WEEK					
2 BR Plus	580	1,160	5,800		

SILVER: Weeks 19–23, 34–42, 49–50				
UNIT SIZE M-TH F-SU 7 NIGHTLY NIGHTLY WEEK				
2 BR Plus	410	820	4,100	

2 BR Plus \$167	\$171	\$1,181
-----------------	-------	---------

2 BR Plus	\$152	\$169	\$1,115

FORT MYERS BEACH, FLORIDA RESORT:

ClubPoints Requirements and Open Season Rental Rates

Seawatch On-the-Beach Resort

Seawatch On-the-Beach Condominium Association, Inc. (Fort Myers Beach, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7-13 51-52

M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK		
480	960	4,800		
700	1,400	7,000		
	NIGHTLY 480	NIGHTLY NIGHTLY 480 960		

GOLD:
Weeks 1-6, 14-18,
24-33, 43-48

UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
1 BR	340	680	3,400
2 BR	500	1,000	5,000

49-50								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
1 BR	240	480	2,400					
2 BR	350	700	3,500					

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

1 BR	\$118	\$123	\$841	1 BR	\$108	\$114	\$774	1 BR	\$97	\$101	\$691
2 BR	\$184	\$199	\$1,333	2 BR	\$167	\$171	\$1,181	2 BR	\$152	\$169	\$1,115

MARCO ISLAND, FLORIDA RESORTS:

ClubPoints Requirements and Open Season Rental Rates

Club Regency of Marco Island

Club Regency of Marco Island Condominium Association, Inc. (Marco Island, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7-13, 51-52

UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK
2 BR	700	1,400	7,000

GOLD:
Weeks 1-6, 14-18,
24-33, 43-48

UNIT SIZE	M-TH	F-SU	7 NIGHT	
	NIGHTLY	Nightly	WEEK	
2 BR	500	1,000	5,000	

SILVER:	
Weeks 19-23, 34-42,	
49-50	

49–50							
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK				
2 BR	350	700	3,500				

						\ 0	0	<i>y</i> 1		/	
2 BR	\$184	\$199	\$1,333	2 BR	\$167	\$171	\$1,181	2 BR	\$152	\$169	\$1,115

MARCO ISLAND, FLORIDA RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Eagle's Nest Beach Resort

Eagle's Nest on Marco Beach Condominium Association, Inc. (Marco Island, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7-13, 51-52 M-TH F-SU 7 NIGHT UNIT SIZE NIGHTLY NIGHTLY WEEK 1 BR 480 960 4,800 2 BR 700 1.400 7.000

GULD: Weeks 1-6, 14-18, 24-33, 43-48							
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK				
1 BR	340	680	3,400				
2 BR	500	1,000	5,000				

SILVER: Weeks 19–23, 34–42, 49–50								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
1 BR	240	480	2,400					
2 BR 350 700 3,500								

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

1 BR	\$118	\$123	\$841
2 BR	\$184	\$199	\$1,333

			_
1 BR	\$108	\$114	\$774
2 BR	\$167	\$171	\$1,181

1 BR	1 BR \$97	\$101	\$691		
2 BR	\$152	\$169	\$1,115		

Sunset Cove Resort

(Marco Island, FL)

POINT REQUIREMENTS

Week	PLATI s 1–13, 2	NUM: 24–33, 5	1–52		
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
3 BR	840	1,680	8,400		
3 BR Plus	960	1,920	9,600		

W	GOLD: Weeks 14–18, 43–48									
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT WEEK							
3 BR	580	1,160	5,800							
3 BR Plus	700	1,400	7,000							

Weeks	SILVER: Weeks 19–23, 34–42, 49–50										
UNIT SIZE	M-TH NIGHTLY	F-SU 7 NIGH NIGHTLY WEEK									
3 BR	410	820	4,100								
3 BR Plus	480	960	4,800								

3 BR	\$250	\$269	\$1,807
3 BR Plus	\$250	\$269	\$1,807

		١ 0	0
3 BR	\$232	\$246	\$1,666
3 BR Plus	\$232	\$246	\$1,666

•	ayo prior to cricen out)							
	3 BR	\$228	\$238	\$1,626				
	3 BR Plus	\$228	\$238	\$1,626				

MARCO ISLAND, FLORIDA RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

The Charter Club of Marco Beach®

The Charter Club of Marco Beach, Condominium Association, Inc. (Marco Island, FL)

POINT REQUIREMENTS

W	PLATI eeks 7–		2
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK
2 BR	700	1,400	7,000

NIGHTLY NIGHTLY WEEK										
UNIT SIZE										
2 BR	500	1,000	5,000							

We	SILV eks 19– 49–	23, 34–4	2,
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
2 BR	350	700	3,500

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

	2 BR	\$184	\$199	\$1,333		2 BR	\$167	\$171	\$1,181		2 BR	\$152	\$169	\$1,115
--	------	-------	-------	---------	--	------	-------	-------	---------	--	------	-------	-------	---------

The Surf Club of Marco

The Surf Club of Marco, Inc. (Marco Island, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7-13, 51-52 м-тн F-SU 7 NIGHT **UNIT SIZE** NIGHTLY NIGHTLY WEEK 2 BR 700 1,400 7,000

GOLD: Weeks 1-6, 14-18, 24-33, 43-48								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
2 BR	500	1,000	5,000					

SILVER: Weeks 19-23, 34-42, 49-50								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
2 BR	350	700	3,500					

2 BR \$184 \$1	199 \$1,333	2 BR \$167	\$171 \$1,181	2 BR	\$152	\$169	\$1,115
----------------	-------------	------------	---------------	------	-------	-------	---------

SANIBEL, FLORIDA RESORTS:

ClubPoints Requirements and Open Season Rental Rates

Casa Ybel Resort

Casa Ybel Beach and Racquet Club Condominium Association, Inc. Casa Ybel Beach and Racquet Club, Phase IJK Condominium Association, Inc. (Sanibel, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7–13, 51–52									
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK						
2 BR	700	1,400	7,000						

GOLD: Weeks 1–6, 14–18, 24–33, 43–48								
UNIT SIZE	M-TH NIGHTLY	F-SU NIGHTLY	7 NIGHT					
2 BR	500	1,000	5,000					

SILVER: Weeks 19–23, 34–42, 49–50								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
2 BR	350	700	3,500					

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

0.00	4.04	4400	44.000	1	0.00	4.07	A		1	0.00	4450	4400	A.
2 BR	\$184	\$199	\$1,333		2 BR	\$167	\$1/1	\$1,181		2 BR	\$152	\$169	\$1,115

Hurricane House Resort

Hurricane House Condominium Association, Inc. (Sanibel, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7-13, 51-52								
UNIT SIZE M-TH F-SU 7 NIGHT WEEK								
2 BR	700	1,400	7,000					

GOLD: Weeks 1-6, 14-18, 24-33, 43-48								
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK					
2 BR	500	1,000	5,000					

SILVER: Weeks 19–23, 34–42, 49–50								
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK					
2 BR	350	700	3,500					

2 BR	\$184	\$199	\$1,333	2 BR	\$167	\$171	\$1,181	:	2 BR	\$152	\$169	\$1,115
------	-------	-------	---------	------	-------	-------	---------	---	------	-------	-------	---------

SANIBEL, FLORIDA RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Sanibel Cottages Resort

The Sanibel Cottages Condominium Association, Inc. (Sanibel, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7-13, 51-52 M-TH F-SU 7 NIGHT UNIT SIZE NIGHTLY NIGHTLY WEEK 2 BR 700 1,400 7,000

GOLD: Weeks 1–6, 14–18, 24–33, 43–48									
NIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK						
D RR	500	1 000	5 000						

SILVER: Weeks 19–23, 34–42, 49–50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
2 BR	350	700	3,500	

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

2 BR \$184 \$199 \$1,333

		(8	8 -	Ī
2 BR	\$167	\$171	\$1,181	

2 1		/	
2 BR	\$152	\$169	\$1,115

Shell Island Beach Club Resort

(Sanibel, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7-13, 51-52				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
2 BR	700	1,400	7,000	

GOLD: Weeks 1-6, 14-18, 24-33, 43-48				
M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
500	1,000	5,000		
	Veeks 1- 24-33, M-TH NIGHTLY	M-TH NIGHTLY NIGHTLY		

SILVER: Weeks 19–23, 34–42, 49–50					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
2 BR	350	700	3,500		

						, ,	_					
2 BR	\$184	\$199	\$1,333	2 BR	\$167	\$171	\$1,181	2 BR	\$152	\$169	\$1,115	

SANIBEL, FLORIDA RESORTS:

ClubPoints Requirements and Open Season Rental Rates, Continued

Tortuga Beach Club Resort

Tortuga Beach Club Condominium Association, Inc. (Sanibel, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7–13, 51–52						
UNIT SIZE M-TH F-SU 7 NIG						
2 BR	700	1,400	7,000			

GOLD: Weeks 1-6, 14-18, 24-33, 43-48					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
2 BR	500	1,000	5,000		

SILVER: Weeks 19–23, 34–42, 49–50					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
2 BR	350	700	3,500		

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

2 BR	\$184	\$199	\$1,333

		, 0	0
2 BR	\$167	\$171	\$1,181

- 1					
2 BR	\$152	\$169	\$1,115		

STUART, FLORIDA RESORT:

ClubPoints Requirements and Open Season Rental Rates

Plantation Beach Club at Indian River Plantation Resort

Plantation Beach Club Condominium Association, Inc. (Stuart, FL)

POINT REQUIREMENTS

PLATINUM: Weeks 7–13, 51–52					
UNIT SIZE M-TI		F-SU Nightly	7 NIGHT WEEK		
1 BR	480	960	4,800		
2 BR	700	1,400	7,000		

GOLD: Weeks 1-6, 14-18, 24-33, 43-48					
UNIT SIZE M—TH F—SU 7 NIG					
1 BR	340	680	3,400		
2 BR	500	1,000	5,000		

SILVER: Weeks 19–23, 34–42, 49–50						
UNIT SIZE M-TH NIGHTLY NIGHTLY WEEK						
1 BR	240	480	2,400			
2 BR	350	700	3,500			

1 BR	\$118	\$123	\$841	1 BR
2 BR	\$184	\$199	\$1,333	2 BR

1 BR	\$108	\$114	\$774
2 BR	\$167	\$171	\$1,181

1 BR	\$97	\$101	\$691
2 BR	\$152	\$169	\$1,115

ACAPULCO, MEXICO RESORT:

ClubPoints Requirements and Open Season Rental Rates

Fiesta Americana Villas Acapulco

Acapulco, Guerrero, Mexico

POINT REQUIREMENTS

PLATINUM: Weeks 13–14, 27–33, 51–52					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
Studio	220	440	2,200		
1 Bedroom	480	960	4,800		
2 Bedroom	700	1,400	7,000		

GOLD: Weeks 1–12, 15–17, 34–37, 46–47					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
Studio	160	320	1,600		
1 Bedroom	340	680	3,400		
2 Bedroom	500	1,000	5,000		

SILVER: Weeks 18-26, 43-45, 48-50					
Studio	110	220	1,100		
1 Bedroom	240	480	2,400		
2 Bedroom	350	700	3,500		

BRONZE: Weeks 38-42				
Studio	80	160	800	
1 Bedroom	170	340	1,700	
2 Bedroom	250	500	2,500	

PLATINUM: WEEKS 13-14, 27-33, 51-52				
Studio	\$123	\$148	\$936	
1 Bedroom	\$165	\$192	\$1,236	
2 Bedroom	\$192	\$220	\$1,428	

GOLD: Weeks 1-12, 15-17, 34-37, 46-47					
Studio	\$91	\$113	\$703		
1 Bedroom	\$130	\$152	\$976		
2 Bedroom	\$156	\$178	\$1,158		

SILVER: Weeks 18-26, 43-45, 48-50				
Studio	\$80	\$102	\$626	
1 Bedroom	\$119	\$141	\$899	
2 Bedroom	\$145	\$167	\$1,081	

BRONZE: Weeks 38–42				
Studio	\$80	\$102	\$626	
1 Bedroom	\$119	\$141	\$899	
2 Bedroom	\$145	\$167	\$1,081	

CANCUN, MEXICO RESORT:

ClubPoints Requirements and Open Season Rental Rates

Fiesta Americana Villas Cancun

Cancun, Quintana Roo, Mexico

POINT REQUIREMENTS

W	PLATI eeks 4-	NUM: 18, 51–5	2
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio	220	440	2,200
1 BR	480	960	4,800
2 BR	700	1,400	7,000

GOLD: Weeks 1–3, 26–34, 40–50				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio	160	320	1,600	
1 BR	340	680	3,400	
2 BR	500	1,000	5,000	

SILVER: Weeks 19–25, 35–39				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Studio	110	220	1,100	
1 BR	240	480	2,400	
2 BR	350	700	3,500	

Studio	\$123	\$148	\$936
1 BR	\$165	\$192	\$1,236
2 BR	\$192	\$220	\$1,428

		, ,	
Studio	\$91	\$113	\$703
1 BR	\$130	\$152	\$976
2 BR	\$156	\$178	\$1,158

Studio	\$80	\$102	\$626
1 BR	\$119	\$141	\$899
2 BR	\$145	\$167	\$1,081

LOS CABOS, MEXICO, RESORTS: ClubPoints Requirements and Open Season Rental Rates

Fiesta Americana Villas Los Cabos All Inclusive Golf and Spa Resort

Cabo del Sol, Los Cabos, Mexico

POINT REQUIREMENTS

Week	PLATI s 1–18, 2	NUM: 26–34, 5	1–52
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK
Studio	350	700	3,500
1 BR	620	1,240	6,200
2 BR	840	1,680	8,400

GOLD: Weeks 19–25, 40–50					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
Studio	250	500	2,500		
1 BR	420	840	4,200		
2 BR	580	1,160	5,800		

SILVER: Weeks 35–39				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	170	340	1,700	
1 BR	300	600	3,000	
2 BR	410	820	4,100	

OPEN SEASON NIGHTLY RENTAL RATES (beginning 30 days prior to check-out)

Studio	\$123	\$148	\$936
1 BR	\$165	\$192	\$1,236
2 BR	\$192	\$220	\$1,428

_			(8	8 0
	Studio	\$91	\$113	\$703
	1 BR	\$130	\$152	\$976
	2 BR	\$156	\$178	\$1,158

Studio	\$80	\$102	\$626
1 BR	\$119	\$141	\$899
2 BR	\$145	\$167	\$1,081

Grand Fiesta Americana Los Cabos All Inclusive Golf and Spa

Cabo del Sol, Los Cabos, Mexico

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 26–34, 51–52				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Standard	176	352	1,760	

GOLD: Weeks 19–25, 40–50				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Standard	128	256	1,280	

SILVER: Weeks 35–39				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Standard	88	176	880	

MEXICO RESORTS: ClubPoints Requirements

Grand Fiesta Americana Puerto Vallarta All Inclusive

Puerto Vallarta, Jalisco, Mexico

POINT REQUIREMENTS

PLATINUM: Weeks 1–18, 26–34, 51–52				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Junior Suite	220	440	2,200	

GOLD: Weeks 19–25, 40–50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Junior Suite	160	320	1,600	

SILVER: Weeks 35–39				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Junior Suite	110	220	1,100	

Live Aqua Boutique Resort Playa del Carmen

Quintana Roo, Mexico

POINT REQUIREMENTS

PLATINUM: Weeks 4–18, 51–52				
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK	
Standard	220	440	2,200	

GOLD: Weeks 1-3, 26-34, 40-50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Standard	160	320	1,600	

SILVER: Weeks 19–25, 35–39				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Standard	110	220	1,100	

Fiesta Americana Condesa Cancun All Inclusive

Cancun, Mexico

POINT REQUIREMENTS

PLATINUM: Weeks 4–18, 51–52					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
Standard	176	352	1,760		

GOLD: Weeks 1–3, 26–34, 40–50				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Standard	128	256	1,280	

SILVER: Weeks 19–25, 35–39					
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK		
Standard	88	176	880		

COZUMEL, MEXICO RESORT: ClubPoints Requirements and Open Season Rental Rates

Fiesta Americana Cozumel All Inclusive Resort

Cozumel, Quintana Roo, Mexico

POINT REQUIREMENTS

PLATINUM: Weeks 13-14, 27-32, 51-52					
UNIT SIZE	M-TH Nightly	F-SU Nightly	7 NIGHT WEEK		
Studio	220	440	2,200		
1 Bedroom	480	960	4,800		

GOLD: Weeks 1-12, 15-18, 26, 33-35, 46-47				
UNIT SIZE	M-TH NIGHTLY	F-SU Nightly	7 NIGHT WEEK	
Studio	160	320	1,600	
1 Bedroom	340	680	3,400	

SILVER: Weeks 19-25, 43-45, 48-50				
Studio	110	220	1,100	
1 Bedroom	240	480	2,400	

BRONZE: Weeks 36-42				
Studio	80	160	800	
1 Bedroom	170	340	1,700	

PLATINUM: We	eks 13–14,	, 27–32, 51	-52
Studio	\$123	\$148	\$936
1 Bedroom	\$165	\$192	\$1,236

GOLD: Weeks 1-12, 15-18, 26, 33-35, 46-47				
Studio	\$91	\$113	\$703	
1 Bedroom	\$130	\$152	\$976	

SILVER: Weeks 18-26, 43-45, 48-50				
Studio	\$80	\$102	\$626	
1 Bedroom	\$119	\$141	\$899	

BRONZE: Weeks 36-42					
Studio	\$80	\$102	\$626		
1 Bedroom	\$119	\$141	\$899		

Reservation Windows

12	11	10

Hilton Grand Vacations Club Resorts, The Bay Forest Odawa and Liberty Place Charleston by Hilton Club		
Home Week (7 days)	12 months (365 days) to 9 month (276 days) from check-in	
Club Season (3-night minimum)		
Open Season (2-night minimum)		

12 months (365 days) to 9 months (276 days) from check-in

The Central at 5th by Hilton Club, The District by Hilton Clul			
Home Week (7 days)	12 months (365 days) to 9 months (276 days) from check-in		
Home Resort (1-night minimum)			
By Hilton Club Priority Exchange (1-night minimum)			
Club Season (1-night minimum)			
Open Season (1-night minimum - Owners only)			

Hokulani Waikiki by Hilton Gran	d Vacations Club and The Gr
Home Week (7 days)	365 days (12 months) to 186 c
Club Season (3-night minimum)	
Open Season (2-night minimum)	

The Hilton Club – New York (Owners Only)			
Home Club (2-night minimum)	365 days (12 months) to 186		
Club (1-night minimum)			
Open Season (1-night minimum)			

Home Week Priority
7 days in unit type
and season purchased

- Home Resort Priority Reservation Owners at the property only, any unit/season if available
- By Hilton Club **Priority Exchange**
- Club Season Any owner/unit type/season, based on availability
- Open Season

MONTHS					D	AYS	
9 8 7	6 5	4	3	60	45	30	15
y Hilton Club, The Beac	h Resort Sesoko by	Hilton CI	ub, La Pa	cifica Los	Cabos by	y Hilton Cl	lub
Home W	eek Reservations 12	months (3	365 days) 1	to 1 day to	check-in	1	
	9 months (276 da	ys) to 1 da	y from ch	neck-out			
						30 days	
Home W	eek Reservations 12	months (3	65 days)	to 1 day to	check-ir	ı	
9 months (276 day	s) to 60 days from (check-out					
					59 days	to 1 day	
						30 days	to 1 da
he Quin by Hilton Club, a	and The Residences	by Hiltor	ı Club				
Home W	eek Reservations 12	months (3	65 days)	to 1 day to	check-ir	ı	
276 days (9 months) to 10	5 days from check-	out					
			←104 to 9	00 days			
				,	1 day fro	m check-o	
			0	9 days to	i day iro		
						30 days	to 1 da
d Islander by Hilton Grar	ad Vacations Club*	_	-	-	-	*0 ./	2 /
		Vaal. Daas		6E da + a	. 1	*Penthouses are (Owners only
s (6 months) from check-in		Veek Rese					
	186	days (6 n	nonths) to	o 1 day fro	m check	-out	
						30 days	

Vacation Planning Calendar

YEAR		2021	
WEEK NUMBER	FRIDAY TO FRIDAY	SATURDAY TO SATURDAY	SUNDAY TO SUNDAY
1	01/01 - 01/08	01/02 - 01/09	01/03 - 01/10
2	01/08 - 01/15	01/09 - 01/16	01/10 - 01/17
3	01/15 - 01/22	01/16 - 01/23	01/17 - 01/24
4	01/22 - 01/29	01/23 - 01/30	01/24 - 01/31
5	01/29 - 02/05	01/30 - 02/06	01/31 - 02/07
6	02/05 - 02/12	02/06-02/13	02/07 - 02/14
7	02/12 - 02/19	02/13-02/20	02/14-02/21
8	02/19 - 02/26	02/20 - 02/27	02/21-02/28
9	02/26-03/05	02/27 - 03/06	02/28 - 03/07
10	03/05 - 03/12	03/06 - 03/13	03/07 - 03/14
11	03/12 - 03/19	03/13 - 03/20	03/14 - 03/21
12	03/19 - 03/26	03/20 - 03/27	03/21 - 03/28
13	03/26 - 04/02	03/27 - 04/03	03/28-04/04
14	04/02-04/09	04/03 - 04/10	04/04 - 04/11
15	04/09 - 04/16	04/10 - 04/17	04/11 – 04/18
16	04/16-04/23	04/17 - 04/24	04/18 - 04/25
17	04/23 - 04/30	04/24 - 05/01	04/25 - 05/02
18	04/30 - 05/07	05/01 - 05/08	05/02 - 05/09
19	05/07 - 05/14	05/08 - 05/15	05/09 – 05/16
20	05/14 - 05/21	05/15 - 05/22	05/16-05/23
21	05/21 - 05/28	05/22-05/29	05/23-05/30
22	05/28 - 06/04	05/29 - 06/05	05/30-06/06
23	06/04 - 06/11	06/05 - 06/12	06/06 – 06/13
24	06/11 – 06/18	06/12 - 06/19	06/13 – 06/20
25	06/18 - 06/25	06/19 - 06/26	06/20 – 06/27
26	06/25 - 07/02	06/26 - 07/03	06/27 – 07/04
27	07/02 - 07/09	07/03 - 07/10	07/04 - 07/11
28	07/09 - 07/16	07/10 - 07/17	07/11 – 07/18
29	07/16 - 07/23	07/17 - 07/24	07/18 - 07/25
30	07/23 - 07/30	07/24 - 07/31	07/25 - 08/01
31	07/30 - 08/06	07/31 - 08/07	08/01-08/08
32	08/06 - 08/13	08/07 - 08/14	08/08 - 08/15
33	08/13 - 08/20	08/14 - 08/21	08/15 - 08/22
35	08/20 - 08/27	08/21-08/28	08/22-08/29
36	08/27 - 09/03	08/28 - 09/04	08/29 - 09/05
37	09/03 - 09/10	09/04-09/11	09/05 - 09/12
38	09/10 - 09/17 09/17 - 09/24	09/11 - 09/18 09/18 - 09/25	09/12 - 09/19 09/19 - 09/26
39	09/24 - 10/01	09/25 - 10/02	09/26 - 10/03
40	10/01 - 10/08	10/02 - 10/09	10/03 – 10/10
41	10/08 - 10/15	10/09 - 10/16	10/10 - 10/17
42	10/15 - 10/22	10/16 - 10/23	10/17 - 10/24
43	10/22 - 10/29	10/23 - 10/30	10/24 - 10/31
44	10/29 - 11/05	10/30 - 11/06	10/31 – 11/07
45	11/05 - 11/12	11/06 - 11/13	11/07 – 11/14
46	11/12 - 11/19	11/13 - 11/20	11/14 - 11/21
47	11/19 - 11/26	11/20 - 11/27	11/21 – 11/28
48	11/26 - 12/03	11/27 – 12/04	11/28 – 12/05
49	12/03 – 12/10	12/04 - 12/11	12/05 – 12/12
50	12/10 - 12/17	12/11 - 12/18	12/12 - 12/19
51	12/17 - 12/24	12/18 - 12/25	12/19 – 12/26
52	12/24/21-12/31/21	12/25/21-01/01/22	12/26/21-01/02/22
E 2	12/21/21 01/07/22		

12/31/21-01/07/22

DECEMBER 31: All unused, current-year ClubPoints expire. Please note: This calendar is provided as a reference. Please confirm all travel dates with the resort you plan to visit prior to your arrival.

	2022	
FRIDAY TO	SATURDAY TO	SUNDAY TO
FRIDAY	SATURDAY	SUNDAY
01/07 - 01/14	01/01 - 01/08	01/02 - 01/09
01/14 - 01/21	01/08 - 01/15	01/09 - 01/16
01/21 - 01/28	01/15 - 01/22	01/16 - 01/23
01/28 - 02/04	01/22 - 01/29	01/23 - 01/30
02/04 - 02/11	01/29 - 02/05	01/30 - 02/06
02/11 - 02/18	02/05 - 02/12	02/06 - 02/13
02/18 - 02/25	02/12-02/19	02/13 - 02/20
03/04 - 03/11	02/19-02/26	02/20 - 02/27 02/27 - 03/06
03/11 - 03/18	03/05 - 03/12	03/06 - 03/13
03/18 - 03/25	03/12 - 03/19	03/13 - 03/20
03/25 - 04/01	03/19 - 03/26	03/20 - 03/27
04/01-04/08	03/26-04/02	03/27 - 04/03
04/08 - 04/15	04/02 - 04/09	04/03 - 04/10
04/15 - 04/22	04/09 - 04/16	04/10 - 04/17
04/22-04/29	04/16-04/23	04/17 - 04/24
04/29 - 05/06	04/23-04/30	04/24 - 05/01
05/06 - 05/13	04/30 - 05/07	05/01-05/08
05/13 - 05/20	05/07 - 05/14	05/08 - 05/15
05/20 - 05/27	05/14 - 05/21	05/15 - 05/22
05/27 - 06/03	05/21-05/28	05/22-05/29
06/03 - 06/10	05/28 - 06/04	05/29 - 06/05
06/10 - 06/17	06/04-06/11	06/05 - 06/12
06/17 - 06/24	06/11 - 06/18	06/12 - 06/19
06/24 - 07/01	06/18-06/25	06/19-06/26
07/01 - 07/08	06/25 - 07/02	06/26 - 07/03
07/08 - 07/15	07/02 - 07/09	07/03 - 07/10
07/15 - 07/22	07/09 – 07/16	07/10 - 07/17
07/22 - 07/29	07/16 - 07/23	07/17 - 07/24
07/29 - 08/05	07/23 - 07/30	07/24 - 07/31
08/05 - 08/12	07/30 - 08/06	07/31 – 08/07
08/12 - 08/19	08/06-08/13	08/07 - 08/14
08/19-08/26	08/13 - 08/20	08/14 - 08/21
08/26 - 09/02	08/20-08/27	08/21-08/28
09/02 – 09/09	08/27 - 09/03	08/28 - 09/04
09/09 – 09/16	09/03 – 09/10	09/04-09/11
09/16 - 09/23	09/10 - 09/17	09/11 - 09/18
09/23 - 09/30	09/17 - 09/24	09/18 - 09/25
09/30 - 10/07	09/24 - 10/01	09/25 - 10/02
10/07 - 10/14	10/01 - 10/08	10/02 – 10/09
10/14 - 10/21	10/08 - 10/15	10/09 - 10/16
10/21 - 10/28	10/15 - 10/22	10/16 - 10/23
10/28 - 11/04	10/22 - 10/29	10/23 - 10/30
11/04 - 11/11	10/29 - 11/05	10/30 - 11/06
11/11 - 11/18	11/05 - 11/12	11/06 - 11/13
11/18 - 11/25	11/12 - 11/19	11/13 - 11/20
11/25 - 12/02	11/19 - 11/26	11/20 - 11/27
12/02 – 12/09 12/09 – 12/16	11/26 - 12/03	11/27 - 12/04 12/04 - 12/11
	12/03 - 12/10	
12/16 - 12/23 12/23 - 12/30	12/10 - 12/17 12/17 - 12/24	12/11 - 12/18 12/18 - 12/25
12/30/22-01/06/23	12/17 - 12/24	12/18 - 12/23
,55,22 01,00/25	12/31/22-01/07/23	, 25, 22 01, 01, 25
	1 7 7 7 2 2 7 7 7 7 2 9	1

	2023	
FRIDAY TO FRIDAY	SATURDAY TO SATURDAY	SUNDAY TO SUNDAY
01/06 - 01/13	01/07 - 01/14	01/01 – 01/08
01/13 - 01/20	01/14 - 01/21	01/08 – 01/15
01/20 - 01/27	01/21 - 01/28	01/15 - 01/22
01/27 - 02/03	01/28 - 02/04	01/22 - 01/29
02/03 - 02/10	02/04-02/11	01/29 - 02/05
02/10-02/17	02/11-02/18	02/05 - 02/12
02/17 - 02/24	02/18 - 02/25	02/12 - 02/19
02/24-03/03	02/25 - 03/04	02/19-02/26
03/03-03/10	03/04-03/11	02/26-03/05
03/10-03/17	03/11-03/18	03/05-03/12
03/17-03/24	03/18-03/25	03/12-03/19
03/24-03/31	03/25-04/01	03/19-03/26
03/31-04/07	04/01-04/08	03/26-04/02
04/07-04/14	04/08-04/15	04/02-04/09
04/14-04/21	04/15 - 04/22	04/09-04/16
04/21-04/28	04/22-04/29	04/16-04/23
04/28-05/05	04/29-05/06	04/23-04/30
05/05-05/12	05/06-05/13	04/30-05/07
05/12-05/19	05/13-05/20	05/07-05/14
05/19-05/26	05/20-05/27	05/14-05/21
05/26-06/02	05/27-06/03	05/21-05/28
06/02-06/09	06/03-06/10	05/28-06/04
06/09-06/16	06/10-06/17	06/04-06/11
06/16-06/23	06/17-06/24	06/11-06/18
06/23-06/30	06/24-07/01	06/18-06/25
06/30-07/07	07/01 – 07/08	06/25-07/02
07/07 - 07/14	07/08-07/15	07/02-07/09
07/14-07/21	07/15-07/22	07/09 – 07/16
07/21-07/28	07/22-07/29	07/16-07/23
07/28-08/04	07/29-08/05	07/23-07/30
08/04-08/11	08/05-08/12	07/30-08/06
08/11-08/18	08/12-08/19	08/06-08/13
08/18-08/25	08/19-08/26	08/13-08/20
08/25-09/01	08/26-09/02	08/20-08/27
09/01-09/08	09/02-09/09	08/27-09/03
09/08-09/15	09/09-09/16	09/03-09/10
09/15-09/22	09/16-09/23	09/10-09/17
09/22-09/29	09/23-09/30	09/17-09/24
09/29-10/06	09/30 – 10/07	09/24-10/01
10/06 – 10/13	10/07 - 10/14	10/01 – 10/08
10/13 - 10/20	10/14 - 10/21	10/08 – 10/15
10/20 – 10/27	10/21 – 10/28	10/15 – 10/22
10/27 - 11/03	10/28 - 11/04	10/22 - 10/29
11/03 - 11/10	11/04 - 11/11	10/29 - 11/05
11/10 - 11/17	11/11 - 11/18	11/05 - 11/12
11/17 - 11/24	11/18 - 11/25	11/12 - 11/19
11/24 - 12/01	11/25 - 12/02	11/19 - 11/26
12/01 - 12/08	12/02 - 12/09	11/26 - 12/03
12/08 - 12/15	12/09 - 12/16	12/03 – 12/10
12/15 - 12/22	12/16 - 12/23	12/10 - 12/17
12/22-12/29	12/23 - 12/30	12/17 - 12/24 12/24/23 - 12/31/23
12/29/23 - 01/05/24	12/30/23 - 01/ 06/24	12/31/23 - 01/ 07/24
		12/01/20 01/01/24

CONTACT

We are committed to providing you with excellent service and are available to assist you via the following communication channels:

Web:

club.hiltongrandvacations.com

Hilton Grand Vacations Club Reservation Services:

800-932-4482 U.S. and Canada +44-845-608-6385 Europe 407-613-3141 Worldwide

Hilton Club Reservation Services:

888-852-2582 U.S. and Canada 407-613-3700 Worldwide

Chat or Email:

Visit club.hiltongrandvacations.com to get started.

Fax:

407-613-3177

Mail:

Hilton Grand Vacations Club Member Services 6355 MetroWest Boulevard, Suite 180 Orlando, FL 32835

Please note:

Our service offices are closed on Sundays and major U.S. holidays. For current service hours, please visit club.hiltongrandvacations.com.

Current Club Rules are provided at point-of-sale and are also available online via the Club website.